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Paper I GS and MA AEE
Section type : Online
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 1 Question Id : 630680317904 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

What is the name of the technology released in April 2023 by Russia’s Sberbank to compete with ChatGPT in the artificial intelligence chatbot
race?

Options :

1. ®* MetaChat
2. ¥ GigaChat
3. % MegaChat
4. % ByteChat

Question Number : 1 Question Id : 630680317904 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

s0DNONS ROBWORS) weS2reS ¢3S’ ChatGPTS &5¢3 HDToCHZEL SBT3 TOAD JVDRESE 257508 DS 2023¢5°
DB DAL Jr0ZTe3Eed 0B dES?

Options :

1. % erordd
2. ¢ Arordd
3. % Do
4. % BEE

Question Number : 2 Question Id : 630680317905 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In June 2023, which of the following organisation selected Gazipur-Elenga (N4) and Natore-Nawabganj (N6) highways for the implementation of

2/134



8/21/23, 3:24 PM

the project dedicated to road safety in South Asia with a USD 358 million financing agreement signed in Dhaka with the government of
Bangladesh?

Options :

1. # International Monetary Fund
2. % World Tourism Organization
3. % United Nations

4. % World Bank

Question Number : 2 Question Id : 630680317905 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

27S 20236, 20THT (D205 0 TS’ HOBE0 TS USD 358 OONS QI0N 200)0C508 38 e05reS” S8
13580 |DB0NDAS (BT @s0e0 TR0 MEsyrD- SISO (N4) DO °¢3°D -3 15025 (N6) STt SO DODE
TS 0L A&?

Options :

1. % @0e5T°e0% (955

2. % (D005 DT°5EdE SO

3. % 08507235003

4. ¢ D0 27§08

Question Number : 3 Question Id : 630680317906 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

33202365, 100-2ED RS Q55°(Saeima) 32525 e D055 )T°e HEIDSeT8 Q €9 EIAT D) H00E.
Options :

1. % e30)0) 8529

2. ¥ D65y O3NS

3. % D03 GerAR

4. % DT BoWO )

Question Number : 3 Question Id : 630680317906 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0.33

In May 2023, the 100-seat Saeima legislature elected as President to serve for a four-year term.
Options :

1. % Alberts Kviesis

2. % Edgars Rinkevics

3. # Guntis Ulmanis

4. % Gustavs Zemgals

Question Number : 4 Question Id : 630680317907 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In April 2023, Daniil Medvedev beat Italy's Jannik Sinner 7-5 6-3 to win the Miami Open for his fourth title of the year and overall.
Options :

1. # 10th

2. % 16th

3.9 19th

4. % 23rd

Question Number : 4 Question Id : 630680317907 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

DS 202365, BAAHS DTIBS EIOE TOAS 228 DI B 7-5 6-3 BT £,B0D DTN LD, T e
055315065 €55 €65 T3S BTN 8 sHOAN NSO e9edBE & S ¢3S,

Options :

1. % 10

2. % 16

3.v 19

4. % 23

Question Number : 5 Question Id : 630680317908 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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0D DS %QJ g, 2023 DEechernn TrE) Todd LBV ;ﬁ%ﬁoeﬁ? 2008,

D
2dar A 2»dor B
DEd HAD I SGo
. H6S o3rES SEQQ;\ DOYD 8D & YODE WD a) 8663 G065
Il 266 S5 ¢ 35 & RODE 0T b) 39S %
Il 505 iiﬁ:jgs DOV 8D & ROE DS D 0) S°ER we) T°E
EHDOD LB
V. 2566 S0 &8 e & RADS o d) S0 DBSYS

Options :

1. % I-a, II-b, III-d, IV-c
2. % I-b, [I-a, II-c, IV-d
3. % I-a, II-c, ITI-d, IV-b
4. % I-b, II-c, I1I-a, IV-d

Question Number : 5 Question Id : 630680317908 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Match the winners of Laureus World Sports Awards 2023 with the Award category.

LISTA

WINNER NAME

LISTB

AWARD CATEGORY

I.  World Action Sportsperson of
the Year Award

a) Catherine Debrunner

II.  World Breakthrough of the
Year Award

b) Eileen Gu

III.  World Sportsperson of the Year
with a disability Award

¢) Carlos Alcaraz

IV.  World Comeback of the Year
Award

d) Christian Eriksen

Options :

1. # I-a, II-b, ITI-d, IV-¢
2. % I-b, lI-a, Ill-c, IV-d
3. # I-a, II-c, I1I-d, IV-b
4. % 1-b, ll-c, Ill-a, IV-d

Question Number : 6 Question Id : 630680317909 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
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In its latest attempt to lay claim to areas inside the Indian territory, the Chinese government in April 2023 announced it would ‘standardise’ the
names of places in Arunachal Pradesh.

Options :
1. %7
2.%9
3.¥ 11
4. % 15

Question Number : 6 Question Id : 630680317909 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

23°5¢5 25720 |0 2 HEY FPEO0NTIE BIS &@e (H005) 0, DS 202365’ e9BoeTdS (HBTS'D
(BP0 2O (PSTe380' BIPDR T® (2065 50 (DEE30D0A.

Options :

1. % 7

2.% 9

3.4 11

4. % 15

Question Number : 7 Question Id : 630680317910 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which country signed the first defence cooperation agreement with India in April 2023?

Options :

1. # China

2. % Syria

3. % Romania

4. % Singapore

Question Number : 7 Question Id : 630680317910 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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DS 202365 2rSESTFOS K3 BE.69 DTS 2000903 NOSHE0 TS TFO D 2
Options :
1. # Jo°
2. % 28>
3. ¢ TS
4. % 2008:y°0

Question Number : 8 Question Id : 630680317911 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

5508202365, DERIN, DOTIE), 250D & 03 DMIES TN 0850 D, B ¢85 550, HATEN, TS DO, 23§
OB e38s DOSE € 50¢3 TS E8 FOTRE SOOI D St PO DB, FOTBES HOAN NN B

QFT°O R € @I 2,8)0B03) D00 TF°OW.

Options :

1. % 285350 8O DOKYD

2. ¥ 23$350 B0 8T

3. % 2383350 SO0 NSO

4. % 235530 SDBAM ROE T AT

Question Number : 8 Question Id : 630680317911 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In March 2023, signed a Memorandum of Understanding on research, technology and innovation collaborations with focus on several
key technology areas like Aerospace, Electronics, Earth & Ocean Sciences and Water, Mining, Minerals, Clen Energy, Biotech and Healthcare.

Options :

1. # India and Singapore
2. % India and Mexico
3. # India and Malaysia

4. % India and Indonesia

Question Number : 9 Question Id : 630680317912 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0.33

Among SAARC nations, Indian higher education institutes dominate the top 500 categories of the QS rankings 2023, with Pakistan being the only
other nation of the grouping to have a presence in this bracket with among the top 500.

Options :
1. # nine
2. % seven
3. % six
4. ¥ three

Question Number : 9 Question Id : 630680317912 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

0y BFOS', 2023 QS T°S0800IES ) e 500 DT>’ 2SO €5e5) & DT DODEN BEDEHFO TP YT, 0, &3
DertioeS ) €| 500 DerrereS” & 50 I8 TENZVD), DB VSS TFO FEFS Sreledad.

Options :

1. % &a0&

2. % %

3. % &

4. ¥ 053¢0

Question Number : 10 Question Id : 630680317913 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is/are correct about India’s G20 Presidency?

I. On 1st December 2022, India assumed the presidency of the G20 forum, taking over from Indonesia.
II. India will convene the G20 Leaders' Summit for the first time in September 2023.
II1. India will convene 43 Heads of Delegations- the largest ever in the G20.

Options :

1. % Only I

2. % Only III

3. % Both I andII

4, % 1, 1I and III
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Question Number : 10 Question Id : 630680317913 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

G206 27°85¢% @9¢558 €550 0050 80 ¢3S DBIE/D NE/D?

L 1 8025 20228, Q0B I AT HOS 23¢355e D 560D 2B STF0 G20 B0 €9¢958. DD BREI0H .
IL DR023 202365 23S STF0 BcHe3 PO G20 OEE ) DN AESeF0TIN0E.
111 23S SHTF0 43 0 BOTASE QDO NSTFIINEN0E- 3 G205 DS F BS0d DAE.

Options :

IR NN

2. % 11 S5

3. % 10805 11 Boky
4. 1,11 O I

Question Number : 11 Question Id : 630680317914 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

PG HTF0 TNE) INLS0EIES DB DOFI0S 98N TS 700 MW €982 DEN$S BO5ED 2023 23S 305 §0O &
(0SS edess seEsEeTre (FE0D0D0E?

Options :

1. % 0°23°Q

2. % SNFI°CO
3. ¢ (ORT°S

4. % 005DT8

Question Number : 11 Question Id : 630680317914 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In which of the following states has India's first indigenously developed 700 MW nuclear power reactor started commercial operations on 30th
June 2023?

Options :
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1. % Rajasthan
2. % Tamil Nadu
3. ¥ Gujarat
4. % Madhya Pradesh

Question Number : 12 Question Id : 630680317915 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

What is the name of the fertilizer launched by Union Home Minister Amit Shah in April 2023 to take Indian agriculture forward in foodgrain
production and make India self-reliant in fertiliser production?

Options :

1. ¥ Nano DAP (Liquid)

2. % Ethyl Ammonia (Gas)

3. % Anhydrous Nitrogen (Gas)
4. % Nitro DAS (Liquid)

Question Number : 12 Question Id : 630680317915 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

SISO €5ed YRS 2TBE3AD SITAIFR) SMOCNZD BNTEETAE DB DY 56 1D erBSTF)
D $30020980 SNZVTSTAL DS 20236 ZO(ES TIFO SHO(E NS L (TS0 IS0 S DE3?
Options :

1. ¢ 5°S° DAP (|&5)

2. %8 BS 93570057 (°O5W)

3. % QSR IS (5705w)

4. % J&° DAS (&%)

Question Number : 13 Question Id : 630680317916 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

TS BN BN, DOGTFAOTIDAN DTG 530N DO DVYB DV 0T8> A0 DENN D0V
TS 530563 S$GE0 95 GIOTBFAOTNE DTS S3°SeH@, NDODEN HBON rSe8E ST FeNTA), DNE0IS0S’
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DIFONNLETAE RS YR (PBODODS AL-BEIE3 DS XN, DOLLTEN OO aFETT S 0B Dae3?
Options :
1. ¥ S8 (Lesaze)
2. % oo (Meraz)
3. ¥ ¢5°025 (Topaz)
4. % 9230 (Bizard)

Question Number : 13 Question Id : 630680317916 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

What is the name of an Al-first set of services, solutions, and platforms launched by Infosys to help amplify the potential of humans, enterprises
and communities to tap into the next generation of opportunities to create value from unprecedented innovations, connected ecosystems and
pervasive efficiencies?

Options :

1. # Lesaze
2. % Meraz
3. ¥ Topaz
4. ® Bizard

Question Number : 14 Question Id : 630680317917 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of these is/are correct about Jugalbandi, a multilingual Al-chat bot?

L. It was launched by Google in May 2023.
II. The chatbot has been developed by Al4Bharat in collaboration with IIT Madras.
III. It will be accessible via popular messaging platform, WhatsApp.

Options :

1. % Only I

2. % Both II and III
3. % Both I and III
4. % T, Il and III
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Question Number : 14 Question Id : 630680317917 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

22530eTr AL-TeS S 00 2S00 (Jugalbandi)d H0200E0D) DE3SS” DE/D HBSE/D?

L &) 3202365 K S [FPS0D0D0E.

11 237525750 050¢3 DR §O Al4Bharat @898 TOA.

L @A (DAND F2Z0N T Sed e Jod(WhatsApp) T3°ST° OSFT IR OIS0,
Options :

IR NN

2. ¥ 11 O 111 DOy

3. % [ 00a%W Il Boky

4, % T 110805 111

Question Number : 15 Question Id : 630680317918 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

806 e3¢5’ 5G & DOSTF0&H TPEES 20238 H02D0EO0D HBIE IE?

1. 5G & DASFO& FFETR APQROE & VX)) & TIS?) @28 28 237 2023 (DEE30D0H.
IL 558060, Deesen, PERen SHBaN DsdoNen R0’ e 5dT).

I $¥586rSES” 508 D06 DN IS0 21§ 2T00B HOTHE0EFED.

Options :

IR N

2. % 1:00A%W 11 BOcsy

3. ¢ 11 0O 111 BOYy

4. % T 110805 111

Question Number : 15 Question Id : 630680317918 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is/are correct about 5G & Beyond Hackathon 2023?
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I. The 5G & Beyond Hackathon was announced by the Department of Science & Technology on 28th June 2023.
II. It is open to individuals, students, start-ups and academic institutions.
III. Hundred winners of the hackathon will share a total prize pool of X1 crore.

Options :

1. % OnlyI

2. % BothIandII
3. % Both Il and III
4. % 1,1l and I1I

Question Number : 16 Question Id : 630680317919 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

For Draft National Curriculum Framework for School Education 2023, in which month was the Citizen Centric Survey launched by the Ministry
of Education?

Options :

1. ¥ August 2022

2. % QOctober 2022
3. % December 2022
4. % February 2023

Question Number : 16 Question Id : 630680317919 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

FEFTO DC5S 2023 §H0 2230 FSSDETDE TI(E) SNTONT® 0, DT§ S00(E3¢5 ¢ T EFBS OE3E DB D & TS’
S0 0D0E?

Options :

1. ¢ est§QD 2022

2. % 525 2022

3. % &020 2022

4. % D258 2023

Question Number : 17 Question Id : 630680317920 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
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N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
In which month was National Health Accounts Estimates for India (2019-20) released by Dr Vinod K Paul, Member (Health) of NITI Aayog?
Options :
1. % February 2023
2. % April 2023
3. % May 2023
4. % June 2023

Question Number : 17 Question Id : 630680317920 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

D& STZrh D205 (8150) TE0 ASTE BIS erESHTTIL H00B0DNS 230D &8s aPEred 0ITOD (2019-20) &
S DB TFS?

Options :

1. % D258 2023
2. ¥ QDO 2023
3. % 352023

4. % 23 2023

Question Number : 18 Question Id : 630680317921 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

237°& 202365, 0T (925065 50 023700 3FENZ0 BD ) DSTPErrrdE 5e3BE0 2023 237 275 S00BES” ABHS
DB TIS &2 ST°S” Q) ST8 58823700 H23B A ©90F0 309 BenHSE 3D Y0B?

Options :

1. # B)ADQ

2.% 1

3. % 23230590

4. ¥ (e )B0CO
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Question Number : 18 Question Id : 630680317921 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In June 2023, the matter of horizontal reservation for which of these communities came into light again for which a protest took place on 27th
June 2023 in Mumbai against the reply of Maharashtra government to Bombay High Court?

Options :
1. % Lesbian
2. % Gay
3. % Bisexual

4. % Transgender

Question Number : 19 Question Id : 630680317922 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

26 DS 2023 T°¢38, 80 & DHEO (80 34.18 T 0TI B0 DODH SFT¢0eN 238N SHOTASW 1,15,951 SONSIOED Tl
32,302.26 & 050 TOOHeN 38mon?

Options :

1. ¥ (DS s0(& DBE, DS BBre3 (PMSBY)

2. % 98O DO A3 (APY)

3. % (DS 008 B35S % i B3 (PMIIBY)

4. % 382 IS DX BresS (VPBY)

Question Number : 19 Question Id : 630680317922 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

As of 26 April 2023, the cumulative enrolments under which of the following schemes have been more than 34.18 crore and an amount of
%2,302.26 crore has been paid for 1,15,951 claims?

Options :

1. ¥ Pradhan Mantri Suraksha Bima Yojana (PMSBY)

2. % Atal Pension Yojana (APY)

3. ¥ Pradhan Mantri Jeevan Jyoti Bima Yojana (PMJJBY)
4. ® Varishtha Pension Bima Yojana (VPBY)
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Question Number : 20 Question Id : 630680317923 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

10 30 2023 7°¢38, ©9¢55EE ODF QR (Tdred 3¢50 $DA €5d), Tl e (80E) RS ST 00, OS5 2365 H8050E%.

I. SOOMED ---- 98.7%

I1. §3°¢08 --- 99.5%

11 SDF°CD --- 97.8%
IV. &S (DT3 ---- 95.2%
Options :

1. ¥ 1 S°(d

2. % 11 S35

3. % 10805 11 Bo&ky

4. % TV 575

Question Number : 20 Question Id : 630680317923 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

As of 10th May 2023, the states with the highest percentage of ODF Plus villages are given below. Identify the INCORRECT match.

I. Telangana ---- 98.7%
II. Karnataka --- 99.5%
III. Tamil Nadu --- 97.8%

I'V. Uttar Pradesh---- 95.2%
Options :

1. % Only I

2. % Only III

3. % Both I andII

4. % Only IV
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Question Number : 21 Question Id : 630680317924 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is/are true according to the fifth annual World Air Quality Report 20227

I. India was the world's eighth most polluted country in 2022 with an annual average PM2.5 concentration of 53.3 micrograms per cubic metre.

II. With an annual average PM2.5 concentration of 92.6 micrograms per cubic metre, Mumbai has been ranked the fourth most polluted city in the
world.

III. In the list of most polluted cities in the world, out of the 50 cities, 42 are in India.

IV. As per the report, In India, the transportation sector causes 20-35 per cent of the PM2.5 pollution while other sources of pollution are
industrial units, coal-fired power plants and biomass burning.

Options :

1. % Both I and III

2. % BothIand IV

3. % Both II and III

4. % Only I, III and IV

Question Number : 21 Question Id : 630680317924 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 ¢3S’ 9365 30 19905 TP HdeT°ed8eh DSEE 2022 D5°B0 /D Deb50(€)?

i, 095 edaBB PM2.5 1Pesed 53.3 E TS0 o308 HEENS 202265 2rBHTFO (DD0TI0ES” DA €9¢550¢5 ST
B0 GO&.

1. @%@ 0550 PM2.5 Pcheb 92.6 ST 8% NS, 00 [(HDHNOVOS'T €9¢550¢5 EenS TS SHTES” TS
V0 &OA.

1L [DD0H0ST 96506 Sens SHTee e, 50 SHOS’, 42 2rSSTI0S” G ow.

IV. Q3OE (D550, eSS BF0S’, Saea® S0H0 PM2.5 5208 SPETOES 20-35 250 SEEI0)S0E), €900 [ehS SIS
SPESPEN OB OTLY, S €855°065 650 70 DO DAIFITR 260) 0N ) OW.

Options :

1. % 10805 111 O
2. ¢ 1 N8O IV BOy
3. % 11 0803 111 BOLE®
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4. % 1111 o000 IV S (¢bad

Question Number : 22 Question Id : 630680317925 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Who created history by securing India’s first-ever medal, a bronze, at the Asian fencing championships in Wuxi, China, in June 2023?
Options :

1. % Aishwarya Mishra

2. % Bhavani Devi

3. % Jyothi Yarraji

4. % Nithya Ramraj

Question Number : 22 Question Id : 630680317925 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

27S 20235 TSR $H8IS” 28EAN SO DA YON TPONCNINANS” 52005 DHE0 EFH0S 2B HTIIO TSy S0EZVEES
DD PO I8 (€h DO DOE IK?

Options :

1. ¥ 23585 (3"

2. ¥ B> T

3. % £%& oo

4. % Jedg 0°00T°S

Question Number : 23 Question Id : 630680317926 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

India’s Sunil Kumar scored points and clinched gold in the men’s decathlon at the Asian U20 Athletics Championships in Yecheon,
South Korea.

Options :
1. % 5006
2. % 4960
3. % 8012
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4. % 7003

Question Number : 23 Question Id : 630680317926 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

58 20 OIS’ THATTSS” 2288 eSO U20 ©953¢35 ) 700NN HEO BETSES' 2r8S53°8 TOOS
AS §055°0 FPON0LY Q0D D Z0 OO,

Options :

1. % 5006

2. % 4960

3. % 8012

4. ¥ 7003

Question Number : 24 Question Id : 630680317927 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

0 EBDOHS (DWANE OF (WCPL)ED HOSE0 T BcIES 2Se30% (EBEET 58(¢h Den0DS (3OSr0E 2re3S, 2023
€305 31 0A 10 JRODB 2023 HBEL 2387 35753 236 §°00 e300,

Options :

1. % (&3S J¢ Bed)

2. ¥ (OSP° @OR0FR *80DD))

3. % 23880 TPaNS ) HDS

4. % 205 S

Question Number : 24 Question Id : 630680317927 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Shreyanka Patil, who made history by becoming the first Indian cricketer to be signed for the Women's Caribbean Premier League (WCPL), will
play the match to be held from 31 August to 10 September 2023 for team.

Options :
1. % Trinbago Knight Riders

2. % Guyana Amazon Warriors
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3. % Barbados Royals Women

4. * Jamaica Tallawahs

Question Number : 25 Question Id : 630680317928 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :

N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Match the following winner of the First Janjatiya Khel Mahotsav kicked off at KIIT DU in June 2023.

Sports Category

Winner

I. Kabaddi Men’s Category

a. Odisha

II. Kabaddi Women’s Category

b. Karnataka

III.  Football Women’s Category

¢. Chhattisgarh

Options :

1. # I-a, Il-c, III-b
2. % I-b, II-c, Ill-a
3. ¥ I-a, II-b, Ill-c
4. % 1-b, II-a, IlI-c

Question Number : 25 Question Id : 630680317928 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :

N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
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2575 2023¢5° KIT DUSS® 3750255300 Bne3 2352 BS o020 1SS (850060 a¢3 DEeHS
23653A00%.

8¢5 S&R8 DEL

. 23 Hdoe Behd a. 2.5ar

. ¥20 SoSrefe> T R ORAL
. HSrS Sdrse> TR c. ODREE

Options :

1. # I-a, Il-c, I1I-b
2. % b, Il-c, IlI-a
3. % I-a, II-b, IlI-c
4. % I-b, II-a, Ill-c

Question Number : 26 Question Id : 630680317929 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

OB 2.8 F0BBES, A & 5T° ZrDS A8 LTB2BS DX 25K )e3ere e@D0hys) [BF0S0 How IV D¢
2OS (30 eSS’ EenNo.

Options :

1. % 570 20O VAR

2. % 370 FT00AS r03edEeh

3. % 25008 So00H

4. ¢ 23570808) s3ere> B0
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Question Number : 26 Question Id : 630680317929 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
is a technique by which infiltrated water passes through the unsaturated region of groundwater and joins the water table.
Options :
1. ¥ Water table filtration
2. % Water saturation technique
3. % Underground sumping

4. % Groundwater recharge

Question Number : 27 Question Id : 630680317930 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 ¢35 HS ) 0225 HESNOD, (ED0SFBE0 T, HET0E DOOR T DS DEIS d0er), 88058
ENAPA0E (DBAH DE?

Options :

1% HOES Ko (T

2. % B0BST

3. % DO 205D

4. &7 3o FED

Question Number : 27 Question Id : 630680317930 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is a procedure used to save an abscessed tooth in which the pulp chamber is cleaned out, disinfected, and filled with a
permanent filling?

Options :

1. # Surgical gum graft
2. # Gingivoplasty

3. % Enamel biopsy

4. % Root canal therapy
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Question Number : 28 Question Id : 630680317931 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

*E530 (A) 0O 5°EEI0 (R) @ T2 WONDAS 180 BOK 10FEISE) H00H0R) DB DONE D0TRTOR.

FE53M (A): MRI S0P Rrse®) 08050 250230 MPOSFeId De3EB0EIR S dBIAT .

52390 (R): SOCTPEN, P A506)E0 08O 2°) O 20070 PGS x- 837 S0BAW CT & co° 0T MRIS Trer
D )ROT EQRDON.

Options :

1. ¢ A 08050 R BOCT Oeb50 00N R @9 A TBNEY OB DdBe9.

2. % A OO R BOG> D850, 5°Q R @9 A TBE), OB DB 5°6%0.

3. % A D550, 3 R @0e550.

4. % A 08O R BOC” e90e550.

Question Number : 28 Question Id : 630680317931 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).

Assertion (A): MRI is often used to image knee and shoulder injuries.
Reason (R): The muscles, ligaments, and tendons are seen much more clearly with MRI than with regular x-rays and CT.

Options :

1. ¥ Both A and R are true, and R is the correct explanation of A.

2. % Both A and R are true, but R is not the correct explanation of A.
3. ¥ A is true, but R is false.

4. % Both A and R are false.

Question Number : 29 Question Id : 630680317932 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

T8 S 855 180d eS| IS WAOS Q) 0e38 SAIA.

Options :

1. % $€3 TELS(SDHES) TS B> 0B 002 HBAN Grd SOHAOIE0
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2. % 5280 08050 LY H|250 OO
3. ¢ P2 S0EL 00 000
4. % @HTTTO|Q 0SB AT HOAM GFO FOA0HB0

Question Number : 29 Question Id : 630680317932 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

A vacuum cleaner can be suitable for all, EXCEPT
Options :

1. # removing dirt and dust from floors made of hardwood
2. # cleaning cars and stairs

3. ¥ picking up glass pieces

4. # removing dirt and dust from upholstery

Question Number : 30 Question Id : 630680317933 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

850 (A) OO 5780 (R) @ B2 TANDAN (80 BOK (9835250 H00E0D) OB D0NED DOTNEOR.

850 (A): WhatsApp @& (D006 €9¢550¢h (H23°¢ISEd SFOAS |SR-a ¢S Syaesoh oSrm.

5°%€90 (R): WhatsApp @3 DATTHT 0N 6370 D02FA@ 3 (257230 &° 0° A58 )R BONEE €900 NOA.
Options :

1. % A 08050 R BOT Oeb50 S0OON R @9IE A TBNEY OB DdBe9.

2. ¥ A OO R BOK> D850, 5°Q R @9 A TBE), OB DB 5°6%.

3. % A D550, 5 R @0e550.

4. % A 0805 R BOCY @905 5a30.

Question Number : 30 Question Id : 630680317933 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).
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Assertion (A): WhatsApp is the world’s most popular cross-platform messaging app.
Reason (R): WhatsApp enables users to access their conversations through a web browser.

Options :

1. % Both A and R are true, and R is the correct explanation of A.

2. % Both A and R are true, but R is not the correct explanation of A.
3. ¥ A is true, but R is false.

4. % Both A and R are false.

Question Number : 31 Question Id : 630680317934 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

850 (A) B 5°BI0 (R) @ B2 BOLDARN (80 BO D3EISEN SO0 DB D0NED DOTHEOR.

853N (A): DOCO 9D NHYQQ OWT® FONTRE 9| TPAPO& RN eHTBIANTL e ) STSONO, HOT,
IO B BT FAN0S'Q DD HB0IND).

5520 (R): (585)0 TB0EY HBHEB HOBOD0IEE €9 P0G e SETHMT G OTIAED.

Options :

1. ¥ A DA R BOT eh50 0O R 9IE A TBNEY OB DdBea.

2. % A BOM R BOGY D850 , 5°Q R @9 A BBE), OB DB 5°6.

3. % A D550, S°Q R €906550.

4. % A B0 R DOy ©¢e550.

Question Number : 31 Question Id : 630680317934 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).

Assertion (A): Ultrasound scans are used to evaluate foetal development, and they can detect problems in the liver, heart, kidney, or abdomen.
Reason (R): Ultrasound scans are often used to check the progress of a pregnancy.

Options :

1. ¥ Both A and R are true, and R is the correct explanation of A.

2. % Both A and R are true, but R is not the correct explanation of A.
3. ® A is true, but R is false.
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4. % Both A and R are false.

Question Number : 32 Question Id : 630680317935 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

850 (A) B 5°B0 (R) @ B2S BOLVGRS (80 BOK (DEEINEN SO0 OB DODER DOTHEOR.

FES0 (A): D528 SO IOEeHES QNE, 0ES, T°0W, TINBD, D5Te3 O BN ¢55£50, (BDoR, SB0R B> @ehS
DR T°$T° FPOAS REHS T3 DTFP° DO (DBFER SBFECTIEN E5OEFOW.

B0 (R): DODFEEN 2lHO N0 T3NSI SANTAE & HTITAOT OHOEEN.

Options :

1. % A 005 R BOGB® D550 0O R @9 A TBNEY OB DIBe9.

2. ¥ A BAM R BOGY DeHS0 , S°Q R 9 A A30E), OB DedBed 5°6%.

3. % A D550, SR R 906550,

4. % A 080 R O @90¢e550.

Question Number : 32 Question Id : 630680317935 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).

Assertion (A): Natural resource extraction includes activities dedicated to the recovery of sand, gravel, rock, oil, natural gas, and other natural
materials that are obtained by excavation, drilling, boring, or other methods.
Reason (R): Pumpjacks are machines used to extract oil from wells.

Options :

1. # Both A and R are true, and R is the correct explanation of A.

2. % Both A and R are true, but R is not the correct explanation of A.
3. # A is true, but R is false.

4. % Both A and R are false.

Question Number : 33 Question Id : 630680317936 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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DEE® BELe G OB FOAD HOAN TE 27330 S0LOS &ITFAOT VOGS S80 B 10 BIS €900
I3 (BT e3IE3TE) TBNE) PGB T°aN0 DES?

Options :

1. % e

2. % Q)

3. ¥ Q0000

4. % DB

Question Number : 33 Question Id : 630680317936 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

What is the common name of Asafoetida (Ferula asafoetida) which is the dried sap or gum resin obtained from the roots of Ferula plants and used
in several Indian dishes?

Options :

1. ¥ Methi
2. % Saunf
3. ¥ Hing

4. % Aijwain

Question Number : 34 Question Id : 630680317937 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

808 365 SrSYOS ' DAL 35350 eri0 A DE?
Options :

1. ¢ Q3)S Ee38en

2. % TSN

3. % 230 3%50

4. % 23°30S HPE

Question Number : 34 Question Id : 630680317937 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Which of the following is NOT a part of the excretory system in humans?
Options :
1. ¥ Nissl's granules
2. % Glomerulus
3. % Henle’s loop

4. % Bowman’s Capsule

Question Number : 35 Question Id : 630680317938 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Vitamins are a group of substances that are needed for normal cell function, growth, and development. Match the

following Vitamins with their chemical name.

Vitamin Chemical name

I. Vitamin B2 a. Niacin
II. Vitamin B6 b. Riboflavin
III. Vitamin B3 c. Biotin
IV. Vitamin B7 d. Pyridoxine

Options :

1. # I-a, II-c, ITI-b, IV-d
2. ¥ I-b, II-d, IlI-a, IV-c
3. #® I-a, II-b, Ill-c, IV-d
4. % I-d, II-b, Il-c, IV-a

Question Number : 35 Question Id : 630680317938 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
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N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

DEIDD FrSen EeTed HABK, EHCSE HBAW e0DH YO8 e95DBTS DETT°> N0, 80
DEIDSOR 3°¢3 BRrOHS N0 236505 0%.

DEID® Earad N0
. DENS B2 a. VAT
. DS B6 b. BS'TDS
. DeadS B3 c. 22037¢3S
IV. e B7 d. 2B8HS
Options :

1. % I-a, II-c, I1I-b, IV-d
2. ¥ b, 11-d, Il-a, [V-c
3. % Ia, II-b, Ill-c, IV-d
4. % 1-d, 1I-b, -, [V-a

Question Number : 36 Question Id : 630680317939 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In primary succession in water, the pioneers are the
Options :

1. # rooted-submerged plants

2. ¥ small phytoplanktons

3. # rooted-floating angiosperms

4. % reed-swamp
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Question Number : 36 Question Id : 630680317939 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

D3 #D0T EhHereS escdvsen .

Options :

1. % SPENZ0P0NS-E3SS SR 0% 08N
2. ¥ DI D98, HDo0E DE’ DI5PeN

3. % 3 EOR-Behd) e3:59¢ D23 BEren

4. % B-DSB

Question Number : 37 Question Id : 630680317940 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

208 |08, Q) S0 5d BOD DB FITRTEN QS §2TF°ON. BRI R YEXNS Q0B OB 2353720 DOTHEOR.

EES:
LD O (Aschelminthes) QO T"0&HTDEN 9OEFX.

H85SSO:

) $9895T38 D0HOS’ €930, S WO ) FES0 S90S GOLNOH.
i) 3’08520 FEB0 €96305963-63535Q FON EOR 0N,

Options :

1. ¥ HE5SS0 (i) SRS DB,

2. % DB (i) S°(Sa0 OBIE.

3. % BOCR DY TN (i) SN AW (ii) OB .

4. % HESITS0 (1) 5°Q B (i) 5°R A DBIA 5°¢%.

Question Number : 37 Question Id : 630680317940 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

A statement is given followed by two conclusions. Select the correct response from the given options.
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Statement:
Aschelminthes are called roundworms.

Conclusion:
1) The body of the aschelminthes is circular in cross-section.
i1) Roundworms have organ-system level of body organisation.

Options :

1. ¢ Only conclusion (i) is correct.

2. % Only conclusion (ii) is correct.

3. % Both conclusions (i) and (ii) are correct.

4. ® Neither conclusion (i) nor (ii) is correct.

Question Number : 38 Question Id : 630680317941 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Living systems are made up of various complex biomolecules which include carbohydrates. Match the following Group
of Carbohydrates with their examples.

Group of Carbohvdrates Examples
I.  Monosaccharides a. Cellulose
II.  Oligosaccharides b. Ribose
III.  Polysaccharides c. Maltose
Options :

1. % I-a, Il-c, III-b
2. ¢ 1b, Il-c, Ill-a
3. % I, II-b, Ill-c
4. % b, I-a, Ill-c
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Question Number : 38 Question Id : 630680317941 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

255 3555000 528 ) 3FBE O EOR 55), DD H08R EareanHOd Erarodotdag@on. §od
58 )37 BE D), €3 G Eedd edHd0db.

58 )IPBL Jomro | Grerden
. BrS#EBD a. ewgSes
. 2.OFz$B® b. B
M. OTE3H c. SR
IN
Options :

1. % I-a, Il-c, III-b
2. ¥ 1-b, Il-c, Ill-a
3. % I-a, II-b, Ill-c
4. % b, I-a, Ill-c

Question Number : 39 Question Id : 630680317942 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Match the given component of living tissues with the percentage of the total cellular mass.

Component Percentage of the total cellular mass
I. Lipids a. 5-7%
II.  Proteins b. 10-15%
III.  Carbohydrates c.. 3%
IV.  Nucleic acids d. 2%

Options :

1. # I-a, II-c, III-b, IV-d
2. % I-b, II-d, IlI-a, IV-c
3. % I-a, II-b, Ill-¢c, IV-d
4. ¥ 1-d, II-b, Ill-c, IV-a

Question Number : 39 Question Id : 630680317942 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :

N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
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D)D) 2D Smere D) 0G0 S8 GOFOPI TV BSDODOC.

2>(io Q0o Sea Gafoed TS0
. e a. 5-7%
Il rédao b. 10-15%
. =8yarEen B3
V. QogSons esaren d. 24

Options :

1. ® I-a, ll-c, IlI-b, IV-d
2. % I-b, II-d, I-a, IV-c
3. % I-a, II-b, l-c, IV-d
4. % 1-d, II-b, Ill-c, IV-a

Question Number : 40 Question Id : 630680317943 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

& 13T, 208 (DBEIS RSB, TR ST 55 BOCD DB SR E5OLTON. R SRS PN DD IS 0 DTS
D)), VOTRNTOR:

RSETAINE
FE D2 TS0 (AS &8 e DenTS.

DB EIIO:

D) 1A &8 B0 eSS TINE) SO S HBOSN DFR TEy 2CNES TS SA5TE TONDAS 59 e
50 EOR &S00,

i) SEFNS ) DOAN D SB35 e3ENS 0 SEIOMT TE DR TS0 G e38095) B0HES’ Goenod.

Options :
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1 % DSRS0 (i) ST HBIO.
2. ¥ HESBISO (i) ST DBSS.
3. % HESISO (i) OO (i) BOKT HBSD.
4. % HSEITTED DD HBSD 59,

Question Number : 40 Question Id : 630680317943 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In this question, a statement is given followed by two conclusions. Choose the correct response from the given four options:

Statement:
The members of chlorophyceae are commonly called green algae.

Conclusion:
1) Green algae usually have a rigid cell wall made of an inner layer of cellulose and an outer layer of pectose.
i) Chlorophyceae are usually grass green due to the dominance of pigments chlorophyll a and b.

Options :

1. #® Only conclusion (i) is correct.

2. % Only conclusion (ii) is correct.

3. % Both conclusion (i) and (ii) are correct.

4. % None of the conclusions are correct.

Question Number : 41 Question Id : 630680317944 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

As per National Disaster Management Authority (NDMA) Report 2018-19, out of 36 states and union territories in the country, how many of
them are disaster prone?

Options :
1. % 18
2. % 20
3. % 25
4. 27
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Question Number : 41 Question Id : 630680317944 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

22305 D) A £:576 (FESS DOINDMA) QIEE 2018-19 (DGO, BFOS' 36 T DM BoPdF O (rosereS,
Fe3S” DY DIBIOZL NS SOT*) N2

Options :

1. % 18

2. % 20

3. % 25

4.9 27

Question Number : 42 Question Id : 630680317945 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

068 HB E6) 38 & IDBOSTE &35 (2308 ), CRED 2000 [D5°S0 e HeN0H0SS s0B8e303 86" sdareien
BN DDEN DO F2HO o) B0?

Options :

1. % 60%

2. % 70%

3. % 75%

4. ¥ 85%

Question Number : 42 Question Id : 630680317945 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

As per the Centre for Research on the Epidemiology of Disasters, CRED 2000 what percentage of deaths during disasters are of women and
children?

Options :
1. * 60%
2. % 70%
3. % 75%
4. % 85%
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Question Number : 43 Question Id : 630680317946 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In which year was the first Disaster Management Training Institution of India founded at Nagpur as the Central Emergency Relief Training
Institute (CERTTI) to support the Emergency Relief Organisation of the Government of India?

Options :
1. # 1951
2.9 1957
3. % 1962
4. % 1975

Question Number : 43 Question Id : 630680317946 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

27565 (525085 .50 ThE), B35S DI DOV SIS THFES DOES DB 6OD |BHIOK BSVEN S
(CEERTI)™ 2785333065 R00¢) 053 DI QB 65569 BE £ HOR 2 0035315065 F0tddnB0od?

Options :

1. # 1951

2.% 1957

3. % 1962

4. % 1975

Question Number : 44 Question Id : 630680317947 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

235558 26, 2001 25FE0D0 ST®£ed SOOI 200165 DD A £3589 0, 2005 805 VE B2 S 0 e058¢d
(SDMAED)R o) T30 DT®IED D0 ?

Options :

1. % 030

2. % 95

3. ¢ (ORT°S
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4, % 2,3r

Question Number : 44 Question Id : 630680317947 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following states constituted State Disaster Management Authority (SDMAs) under the Disaster Management Act, 2005 in 2001
immediately after the 26th January 2001 earthquake?

Options :

1. ¥ Mabharashtra
2. % Bihar

3. ¥ Gujarat

4. % Qdisha

Question Number : 45 Question Id : 630680317948 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

808 e3¢5 TAQ), AN B2 JNEWNZ NGO ) EOA0T D23 SEE0 DE?
Options :

1. % @3 Q0D DI

2. ¥ BV FES8 DBV AN

3. % DB0S0S) Brer 0BG

4. % D798 B HEBEGE

Question Number : 45 Question Id : 630680317948 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is a natural factor which makes the country prone to various forms of disasters?
Options :

1. # Unscientific development

2. ¥ Extreme weather conditions

3. # Increasing demographic pressure

4. % Unplanned urbanisation
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Question Number : 46 Question Id : 630680317949 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which ministry in India renders technical advice to the States and UTs and Central Ministries on Fire Protection, Fire Prevention and Fire
Legislation?

Options :

1. ¥ Ministry of Home Affairs

2. % Ministry of Urban Development
3. # Ministry of Earth Sciences

4. % Ministry of Environment, Forest and Climate Change

Question Number : 46 Question Id : 630680317949 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

2SSOSR &) O35 § T o) BE €9, €M) 70 AaFSed S0BO5N €A S3NE IEF DY T2 0805w oS e
(PO DB TO(ES 00365 ¢ TPHOZ T0TE IO OANO0E?

Options :

1. ¢ TRPO 3§93 T° oD0(e36% € B

2. % JOTDIYD oDO(e365 ¢ T

3. % 25° DES SDO(eded § T

4. % H05d38, @938 SO0 TPEIBED PG S0O(E36h ¢ T

Question Number : 47 Question Id : 630680317950 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

1005 0B 23NN DTN sDO AN T°EIGED EredF oV DB AN 9 NIBEIZL H0VOEODD 5B
DI, FE3GEEd STB IO 2TGHTIFO TINEY D) BNCHES 23300 TSI (DETFDE (NAPCO) o) H05¢5 1506’ (D5
DO &, DS 1TSS DOH DS W37

Options :

1. % 2005

2. ¥ 2008
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3. % 2010
4. % 2013

Question Number : 47 Question Id : 630680317950 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In which year did Prime Minister Dr Manmohan Singh release India’s first National Action Plan on Climate Change (NAPCC), outlining existing
and future policies and programmes addressing climate mitigation and adaptation?

Options :
1. % 2005
2. % 2008
3. % 2010
4. % 2013

Question Number : 48 Question Id : 630680317951 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is the key programme for prevention/control of outbreaks/epidemics of malaria, dengue, chikungunya etc., vaccines
administered to reduce the morbidity and mortality due to diseases like measles, diphtheria, pertussis, poliomyelitis etc?

Options :

1. % Inter-Sectoral coordination for Prevention and Control of Zoonotic Diseases
2. # Integrated Disease Surveillance Programme

3. ¥ National Vector Borne Diseases Control Programme

4. % Yaws Eradication Programme

Question Number : 48 Question Id : 630680317951 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

LBBOST, BOHFS, DESHTS DOBBS 50 DTS/ OO, 5D, BROCST, HATSIN, FOTrOED NGBS
FPICNE XD ST 80 DOAN NBETO SAOTITE E357e0 TR S0WS SBYERN0 DE?

Options :

1. % 257S%38 3°5C0e AaBea sHOOIM DOHO|5ed §0 ROLB-IFTIS FesOTAS
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2. % 208307 BE &5 OB LB (T
3. ¢ JASS 80 5 GIBD $0(ES'S (e
4. % O5PQ QA 5285800

Question Number : 49 Question Id : 630680317952 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

To map and monitor the spread of coronavirus disease 2019 (COVID-19) cases, which of the following set up a war room that integrates GIS
technology?

Options :

1. ¥ Bruhat Bengaluru Mahanagara Palike

2. ® Brihanmumbai Municipal Corporation
3. # Kochi Municipal Corporation

4. % Jodhpur Municipal Corporation North

Question Number : 49 Question Id : 630680317952 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 3¢S TS SR 5 2019 (COVID-19) TN 5 37755 DONTE 0805 HE5IE.058, GIS r0TeE5D
©ONI0GTAOT 3°0 BT DTN DWROE DE?

Options :

1. ¥ 29576 2300585750 o088 3058 ;T

2. % 2957 0023 NN EFHBAS

3. % 50 0D INSO 528 )BAS

4. % SEYE S0INS °8)BAS 70

Question Number : 50 Question Id : 630680317953 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In this question, a statement is given followed by two conclusions. Choose the correct response from the given four options:

Statement:
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Preparation of an inclusive landslide hazard zonation map needs intensive and continued efforts.

Conclusion:
1) A huge quantity of data on lots of variables covering large slope areas has to be collected, stored, sorted and evaluated.
i1) The use of aerial photographs, satellite images and adoption of remote sensing techniques helps in the collection of data.

Options :

1. # Only conclusion (i) is correct.

2. % Only conclusion (ii) is correct.

3. ¥ Both conclusions (i) and (ii) are correct.

4. ®# None of the conclusions are correct.

Question Number : 50 Question Id : 630680317953 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

&8 19326, 208 (DBEIS RSB, Q) ST 55 BOCD DB SSTTTEN RS §2B Eroe) ON. R 522HS TN DI DO 1B
D), VONTOR:

DS -
R08T8S 0B VE (X7 FRVAS 557500 VY0 BOHEE BT HOAKN AB0HE (HOHE™) e ©3HS0.

DB O:

i) __c;;ﬁ@ TN (PO 58 TR TP IO DAAHOES’ 2378 IS0 BEreDd VEBOD, A S B, (E02QE80D
Sorer 0850 TOSTD.

i) SXITE 7O DN, EHST DEFeN BN BFTTES 1A ION DS ENTITA0IB0 By DESeS’
QFONDCRAOR.

Options :

1% DS5OS0 (i) SP(55 DB,

2. % DB (i) S°(Sa0 OB IE.

3. ¢ DGO (1) QDB (ii) BOLH OB .

4. % DESITREN Do) OB 5°).

Question Number : 51 Question Id : 630680317954 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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& 1936, 28 (DB, Q) ST £5 BOCK DB TR EN Qe STFON. AR I D IFO OB DB Bar20 0 DOTHEFOA.

DES:
35259 5058’ RS DIJOH (5309 PSSO €959 TOLNSOE, 90NS GIS & A ¢, DBNED O BB TS0
800 &ITZPAO0IS).

DB §TTCN:

i) B3¢ )00 B8)§ed> 80¢, GO BeEF B F3TAE POSTEON GBIAOD) SR $ASrdd TWANSITR,), &2
GIS DI &HTrAOD éoog?geﬁ@és EBOBE T o> TonS ).

i) SOIDTAH STE0IS STSDOS &) B2IOB IWEIOTE) 9 (FDE 051D LB DS0 TOHEIE HIHAHO
SNH0EFON, SDEBOTIHO N0 HBO DB £eadd RPEBOMT SOETFON

Options :

1. % DEEITS0 (i) 575 DT IA.

2. % DSOS (i) (a0 OB,

3. ¢ DG (i) QDB (ii) BOLK® OB .

4. % HELITS0 (1) 5°Q B (i) SR & DBIA 5°¢%0.

Question Number : 51 Question Id : 630680317954 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In this question, a statement is given followed by two conclusions. Select the correct response from the given options.

Statement:
Remote sensing is emerging as a popular means of map preparation while GIS can be used for storage, analysis and retrieval.

Conclusions:

1) Under remote sensing techniques, maps can be prepared using satellite data or aerial photographs, and then digitised and stored on computers
using GIS software.

i1) The difficulty with traditional manual maps is that they are tedious and time consuming to prepare, difficult to update and inconvenient to
maintain.

Options :
1. # Only conclusion (i) is correct.
2. % Only conclusion (ii) is correct.

3. % Both conclusion (i) and (ii) are correct.
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4. % Neither conclusion (i) nor (ii) is correct.

Question Number : 52 Question Id : 630680317955 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following are Geological related disasters?

I. Landslides and mudflows
II. Earthquakes

III. Dam failure/Dam bursts
IV. Mine disasters

V. Cattle epidemics

Options :

1. # Only I, IT and IIT

2. % Both Il and V

3.4 Only I, II, IIT and IV
4. % Only IL 1T and TV

Question Number : 52 Question Id : 630680317955 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 ¢3S oTHPE H00ES DIED DN?

L. 08000 DBA D0 DB 22088 (DI en
I1. 23°800°en

11 833 0 §0/e338E)eN DA 0

IV. 5Q DDen

V. %6 90N SN

Options :

1. % 1,11 08050 1T &S5 (bad

2. % 11 B0 V BOGY

3.9 1,11, T 08050 TV 8575530

4. % 11, 111 0000 IV 3355
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Question Number : 53 Question Id : 630680317956 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is/are the examples of Preparedness activities in India in case of disasters?

I. Development of local warning and community evacuation plans through community education

II. Evolving local response structures such as Community based Disaster Management Teams (DMT) and administrative preparedness by way of
stockpiling of supplies

III. Developing emergency plans for rescue and relief

Options :

1. % Only I

2. % Both II and III

3. % Only II

4.9 1 1l and III

Question Number : 53 Question Id : 630680317956 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

& 1808 ¢3S’ eSS TBF0S DHEEN OO HOVW S SEsETIOE) TIPS/ DE/Q?

L 557288 DS & $0° QS 2725 )BE B35 E0775¢3 30K (DETDED N9 Q TAHEBO

1L 83075 0¢3 357865 DN DB 653769 290D (DMT) 903 PQE (9306 QT ET) 983998 TODCEHO BTSN
DBDTD A ¢ TOABO T3°ST° TOT° DOVLeh

1L &9 DO DIFOD IS5 TR0 €655 (DETPED @ I9Q TANRO

Options :

1. % [ S°(dad

2. % 11 0805w 111 BOY

3. % 1 Sdad

4.9 1, 11 DO 111

Question Number : 54 Question Id : 630680317957 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0.33
Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).

Assertion (A): UP and Bihar rank the highest in terms of casualties from cold wave.
Reason (R): The highest casualties in UP and Bihar from cold wave are due to poor level of development and lack of shelters for the outdoor
workers and farmers.

Options :

1. ¥ Both A and R are true, and R is the correct explanation of A.

2. # Both A and R are true, but R is not the correct explanation of A.
3. ® A is true, but R is false.

4. # Both A and R are false.

Question Number : 54 Question Id : 630680317957 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

850 (A) OO 5780 (R) @ B2 TANDAN (806 BOK (H8EIE HO00H0D) OB DDIFTR) HOTNTOR.

FESSM (A): D TP O NS0 8 oW DBOMP ORTe), 2)sF*BeN eoedsEE @"a?ej E5ao°) Q.
SB€90 (R): B TP T3 ST° UP 0G50 855’ @9¢h5BE sDSeTen H0SJ0IETE 523690 580265 F°0W eSO
230805 220¢) DA TR 525500 DBAS BAHOK e3FOH0 SENSB0.

Options :

1. ¢ A DBA50 R DO eh5ean s0BA50 R @9 A B30EY OB Ddes.
2. % A OO R BOKT Oe¢b5:30, 5°Q R @9 A BBE) OB DB 5°6%.
3. % A D550, 5 R @850,

4% A SO0 R DO 9565550,

Question Number : 55 Question Id : 630680317958 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Match the number of Cold Waves which occurred in India from Year 2010-2012.

Year Number of Cold Waves in India
I. 2010 a. 100
I 2011 b: 212
HI: 2012 c. 218
Options :

1. ® I-a, ll-c, I1I-b
2. % [b, Il-c, Ill-a
3. ¢ L-a, II-b, Ill-c
4. % [-b, II-a, -

Question Number : 55 Question Id : 630680317958 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :

N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
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2010-2012 “ﬂ:o;mej;jmaéﬁ 2GR0 DoBDot)S DY TTrew) SEESEN 2ADED0E.

DodSGo 2GS H0eS” e MPeLL SEES

. 2010 a. 100
. 20m h. 212
. 2012 C. 218

Options :

1. ® I-a, II-c, I1I-b
2. % b, Il-c, IlI-a
3. ¥ I-a, II-b, Ill-c
4. % 1-b, II-a, Ill-c

Question Number : 56 Question Id : 630680317959 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
808 ¢3S 2B STFOS ' D STZH TIEID IS0 5O (DTBIe350 STIE?
Options :

1. % T3 D0 @0B0IR0, E&l 8§50 100 8050 SPI &) (865 )r0TIB0 &° ST° 8 TPeISeT) o
SDAHNISORCW.

2. % T30 00, D3 Qe 8GN T Feédd $A0TIR0 T° ST° B 955 BB ON.
3. ¥ D), DOF0EN 0B DESTEA BrE0se OB T3, @A) $20°0) TEW T A0THE0EFTON.
4. % T3 (Taed F0EN025OE) VB erAsrd) SO0 FAEDOS &8I0 90O ON.

Question Number : 56 Question Id : 630680317959 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
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N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Which of the following is NOT a benefit of planting trees for poor communities in India?
Options :
1. # Trees rapidly improve the local climate by providing shade, reducing the temperature, and promoting rainfall.
2. ® Trees improve soil quality through composting, water retention, and reduction of soil erosion.
3. ¥ Trees absorb the excess noise from small industries and irrigation facilities.

4. % Trees give rural families a source of sustainable income and nutritious food.

Question Number : 57 Question Id : 630680317960 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is NOT among the schemes launched by the Government of India to encourage generation of solar power in the country?
Options :

1. % Solar Park Scheme

2. # Viability Gap Funding (VGF) Scheme

3. ¥ 33 Stack Defensive Scheme

4. % Grid Connected Solar Rooftop Scheme

Question Number : 57 Question Id : 630680317960 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

808 ¢3S’ BFOS DS DRSS €¢IV |5 )P0’ 237565 (32065 S0 (FPS0DODN DHE0 T DE?
Options :

1. % Ferd r0) D80

2. % 3aHDOES 5% HOBOR (VGF) D60

3. ¢ 33 "5 FD) DPHE0

4. % A& EIJTH Ferd Erere 050

Question Number : 58 Question Id : 630680317961 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Which of the following water borne diseases caused maximum deaths in India during the period 2017 to 2021?
Options :
1. # Viral hepatitis
2. % Cholera
3. ® Typhoid

4. % Acute diarrhoeal diseases

Question Number : 58 Question Id : 630680317961 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

De3 & £0° HOEDOT (B0 & & 2017 S0 2021 088 OO 2B STFOS” 9ehHE SNBETFOE S SION0E?
Options :

1. % 33O 0TS0

2. % o0

3. % Brond

4.9 SSS THBOSF T5C0eN

Question Number : 59 Question Id : 630680317962 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

SDG 3 - 5000 e8%50 8GN (BOHKN I AP0GOS 23S STF0 DO, 060 DT DN?

L | 203¢ es&t5s H0BE 69 HETIE DB 2B HTI0SS 059 a°e95eh OO B S588H0 GOLNOE.
1. 30| (25065 5, T°( o 1325065 5 @308 63635 D0 SO0 5D IIB.

111 (523815 D0SE 9 trer FTE0D)E3SE 9B Se028IB.

IV, SO0 (PEed (SroeeeS’ es8is H0GE e ©0c02rene ec.

V. @853°80 N0 225893 S0 QS DOBE.£950 D0220ON TR HSTIF (P& )eT0 ©0TICN.

Options :

1% 111 1 o08a%0 IV 3505

2. % I IIL IV 00050 V S°(sbad
3.9 1, L TV 308050 V 55765
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4. % 1 TV 08050 V 55765

Question Number : 59 Question Id : 630680317962 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :

N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Which of the following are the challenges faced by India in achieving SDG 3 — Good health and well-being?

I. Private healthcare can be expensive and varies in quality and costs of services in India.
II. Coordination between Central Government and State Government hospitals is compulsory.
II1. Public healthcare though much cheaper is unreliable.

IV. Accessibility of healthcare particularly in rural areas is lacking.

V. Awareness regarding preventive care, from diet to lifestyle, are often underappreciated.

Options :

1. % Only I, II, Il and IV

2. % Only IL III, IV and V
3. Only , I IV and V

4. % Only IL, IV and V

Question Number : 60 Question Id : 630680317963 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :

N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Match the Five Year Plans implemented in India (Column A) to the vears of their launch (Column B).

Column A Column B
A) Seventh Five Year Plan I) 1961
B) Fourth Five Year Plan II) 1985
C) Fifth Five Year Plan 1) 1969
D) Third Five Year Plan V) 1974
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Options :
1.¥ A-1V,B-1,C-1II,D - II
2. A-ILB-ILC-1V,D-1
3. A-NILB-1V,C-1,D-1I
4. % A-LLB-I,C-1II,D-1V

Question Number : 60 Question Id : 630680317963 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
2PGETR0eT” a0 DO DocddG PEFPELM (oo A) d Fo g6 e ATR I “n}OE}@DU"E_J@G (sroa0 B) ‘é]ﬁﬁ*m&oc‘;.

o A seoew B
A) e DoBdG DEFDS 1) 1961
B) TP Dowadg Derds I1) 1985
C) 265 Dosadg PEFRE ) 1969
D) sureiad DHocidg Qs V) 1974

Options :

1.% A-1IV,B-1LC-1II,D - 1I
2. A-ILB-ILC-1V,D-1
3. A-NILB-1V,C-1,D-1I
4. % A-LLB-I,C-1II,D-1V

Question Number : 61 Question Id : 630680317964 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0.33
808 3’ DA 578h JNTIE HOVOEODIE 5°¢0?
Options :
1. % 200 @O ANDAAT) SONES TS ST GNTITR0IC0 236A0H.
2. ¥ Q0O @OE FON BT ) ORTETVONS 2563 ¢3S TIOD €369 HOEBDBTICH0 238808.
3. % JeSrBA FELO SRS0EH B0 53°0 RS S22 eI OBDT® 93030 ONSOH.
4. % B8 BN DBsYOD DB BSOS’ 50BN SASOST EHTIPAOTIE0 9900 eaNS0H.

Question Number : 61 Question Id : 630680317964 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements is NOT relevant to the Green Revolution?

Options :

1. # It involved use of improved seeds of high yielding varieties.

2. ¥ It involved crossbreeding of indigenous cows with high milk yielding European breed.
3. # It needed adequate and assured supply of water for irrigation.

4. ® Tt needed increased and appropriate application of chemical fertilisers.

Question Number : 62 Question Id : 630680317965 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

&Sejo@uﬁmé S0, BHD0ES T Do D0 2B’ 0FTDSS0Es

Ot ﬁmé&hﬁ“ Eod.

Options :

1. % He3 BEHITS oewewn

2. ¥ 3057 5@ DBFaden

3. % 20 HOFeN

4. % 2000 08O BV DBFeN

Question Number : 62 Question Id : 630680317965 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
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N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Before independence, the rate of industrialisation in India was slow due to lack of sufficient
Options :
1. # cotton textile mills
2. ¥ capital goods industries
3. # cement industries

4. % jron and steel industries

Question Number : 63 Question Id : 630680317966 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

DS FOIS 2rBSTIOS 55900 B0K0 HEOD o 7¢3eS° DB IE DE?

Options :

1. ¢ 208 553D S55IT°0 B0K0 OB 3T €250 B30T EE TOOA.

2. % 80T 55590 D203 (D5°80, DS BSOS ABFeS TG 23630 TONQ FNTTEREN ) FPEVL §STHSFPED.
3. 8 2SS0 Besnen (DE3N HBFNO &OTTH0 §R0 €558 HOID ErehIed D) .

4. % 2SSTF0S H5STOD GEr )8 5850 S GOCHETIE ETRIRD SEFOS” DEYO HADONRD DATZeHN0 2.8¢3.

Question Number : 63 Question Id : 630680317966 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements about agricultural sector in India under the British rule is correct?

Options :

1. % Under the zamindari system, the profit accruing out of the agriculture sector went to the zamindars.

2. % Cultivators who did not deposit specified sums of revenue by a fixed date lost their rights, as per the terms of the zamindari system.
3. ® Farmers in India were producing food crops for use by British industries.

4. % Substantial use of fertilisers was one of the reasons that contributed to low level of agricultural productivity in India.

Question Number : 64 Question Id : 630680317967 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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808 & HOLISY (DT RED HNONOS’ 2PSEHTIOS” 'EBY DAeh |TT0Te 5055|500 (DPAP)' |37S08)050G0E?
Options :
1. % €885 HOTISY (NerPE
2. % 58585 DOWIY (DT Py
3. % 305°¢868 HOTINE (DT DE
4. % DN HOVNY (DT

Question Number : 64 Question Id : 630680317967 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

During which of the following Five Year Plans was the ‘Drought Prone Area Programme’ initiated in India?
Options :

1. # Sixth Five Year Plan

2. # Fifth Five Year Plan

3. % Third Five Year Plan

4. % Fourth Five Year Plan

Question Number : 65 Question Id : 630680317968 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

19506%°, HORQOM R SB50 DERDA S 28 0D e a7BBTFOS DY 5B FBFWE ORTIE
35888052808,

Options :

1. # QAN ©§ e

2. % Qe o e

3. % 000 o8 e

4. % JH oFew

Question Number : 65 Question Id : 630680317968 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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In 1950, an enterprise which invested a maximum of X was classified as a ‘small-scale industrial unit’ in India.
Options :
1. ® eight lakhs
2. # seven lakhs
3. ¥ five lakhs
4. % ten lakhs

Question Number : 66 Question Id : 630680317969 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

SPMRM €93 201663 ' ) O L2750 27D0T DPET$OS TrEIE0E e3¢ $0 OGN Ded|IehHD dga) B0
(TPe0E9 03523 2833 TP, NOBE 0T 80N DOTFOAOT TP DIt @S9 Q TN ©F S0
BPS0DONVDEO.

SPMRM @938 8 508 0 &rdo0.

Options :

1. 8 Fgd5 (DS S8 ErSS DAS

2. % eSS Sw SIS AS

3. ¢ F55 [(DTE S B3NS AS

4. % Fg85 (DO SO BEDAS WAS

Question Number : 66 Question Id : 630680317969 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

SPMRM was launched in 2016 with a goal of ‘development of a cluster of villages that preserve and nurture the essence of rural community life
with focus on equity and inclusiveness without compromising with the facilities perceived to be essentially urban in nature’.
SPMRM is an acronym for .

Options :

1. # Shyama Prasad Mukherji Rural Mission

2. # Shyama Prasad Mukherji Revival Mission

3. ¥ Shyama Prasad Mukherji Rurban Mission

4. # Shyama Prasad Mukherji Reclamation Mission
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Question Number : 67 Question Id : 630680317970 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

2065 208 BROSIES 758 R0BE (DD TVDSBCH DOE A3D) 2022 |DSS0, 23SSTH MPI Dend 2019-2165° 3
GO&.

Options :

1. # 0.960

2. % 0.690

3. % 0.096

4. % 0.069

Question Number : 67 Question Id : 630680317970 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

As per the Global Multidimensional Poverty Index 2022, India’s MPI value stoodat ~ in 2019-21.
Options :

1. ¥ 0.960

2. % 0.690

3. % 0.096

4.9 0.069

Question Number : 68 Question Id : 630680317971 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

FEFTOOD, DI DONEN, DBIRT® HODEN HBAN MSMESS 38 D8(Fe0e06S e300, 569 08050 35558 eh TBowE)y
FESBETR) DIROTIO OO (85 Jor0tIS0 @9 ©OF S0 S RS SAS MAS (AIM) 201665° o SO
N eInTA I Tolo )

Options :

1. ¢ D& es3eh

2. % @3 R0305° IO HO B8 ES D5BTAS
3. % 0S8 e IPoeS Y EAS

4. % D35 B0 NBTS TN,
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Question Number : 68 Question Id : 630680317971 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The Atal Innovation Mission (AIM) was set up by the in 2016, with an objective to create and encourage an environment of innovation and
entrepreneurship across schools, educational organisations, research institutes and industries including MSMEs.
Options :

1. ¥ NITI Aayog
2. % All India Council for Technical Education
3. % University Grants Commission

4. # Education and Research Network

Question Number : 69 Question Id : 630680317972 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

As of June 2023, the target group for Deen Dayal Upadhyaya Grameen Kaushalya Yojana are poor rural youth in the age group of years,
with relaxation in upper limit for specific vulnerable groups.

Options :

1. % 15-25
2.%15-35
3. % 15-50
4. % 15-60

Question Number : 69 Question Id : 630680317972 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

258 2023 °¢38, AR QOSSP E"S0D (M TR Tre3d AZNEY ©F.§ DTT0  D0NHIT AN 5> 08
(TPED O505¢h, RO DOR 2T ST°H KON ST HDONBES” DB 0L) GOENOL.

Options :

1. % 15-25

2.9 15-35

3. % 15-50
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4. % 15-60

Question Number : 70 Question Id : 630680317973 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Match the expert groups constituted to estimate the number of people living in poverty in India (Column A) to the features
(Column B).

Column A Column B

I) It adopted the officially measured urban poverty line of 2004-05
A) Task Force headed by Dr.

(25.7%) based on Lakdawala Expert Group methodology.
YK Alagh (1979)

II) It quantified the poverty line in India for the first time in terms of a
B) Study by VM Dandekar and

minimum requirement (food and non-food) of individuals for
N Rath (1971)

healthy living.

III) It defined the poverty line as the per capita consumption
() Tendulkar Expert Group

expenditure level to meet average per capita daily calorie
(2009)

requirement of 2400 keal per capita per day in rural areas and

2100 kcal per capita per day in urhan areas.

) IV) It first established the consumption levels required to meet a
D) Working Group (1962) 5 ; :
minimum calorie norm of an average calorie norm of 2,250

calories per capita per day.

Options :

1. ¥ A-1V,B-III,C-1II,D -1
2. A-TILB-1V,C-1,D-1I
3.8 A-1I,B-1,C-1V,D-1II
4. % A-LLB-I,C-III,D-1V

Question Number : 70 Question Id : 630680317973 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
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N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
OB ged’ Hesddos” AR dHe Dopdy wodir DOLEERE Dorytn FHR VP DaurETo (srods A)
a8 wimred (sroso B) Jﬂﬁgﬁﬂlﬁﬂé .

Seeiy A s B

[} =& VTR aé:j:.::g fird oGdorud wortorT wdseadorT

A) e DB, wogw E:‘héja,éjsoéj:]
£ 2004-05 (25.7%) Hies Sl Bepeo ?assaaé‘)oa.

ey, 96y (1979)

) eseiggopon Soe e Sy 80 wsdomen (wkto
B) VM csoZsb 20bain N ood

S0doin et s ) Do @6 AVGETroT iPEaS B azlelaly

wijado (1971) . Gé‘gjoﬂ A
EN) o,

) @& orddy T2 S0Dd Do Byol Zronme Edﬁﬁ)oﬂoé,
C) Botsire) b Dipmow epotso o

: } rabes grosred” B0 S 2400 &¢6° Suden dvdaio Hiyes
2009

Frooee” Beh6 B 2100 26° Soben Hiitn Bend Sward

Zewbe DDA éd&mﬁé bmsmmécﬂ.
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DDCEITH gvmwm fi}m;je.}.:r Si5od.

Options :

1. % A-1V,B-1II,C-1I,D - I
2. A-IILB-1V,C-1,D-1I
3.% A-1I,B-1,C-1V,D-1II
4. % A-LLB-I,C-III,D-1V

Question Number : 71 Question Id : 630680317974 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

R0B0HS MIES) ROHB2nT 2021 (H5°G0, 2020-2165° 99% €5¢5 Y3 (T NE 0TS0 e JBS® e (PP &GO&.
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Options :
1. & §T°ed8
2. % HISVAE
3. % ODe
4. % 30¢

Question Number : 71 Question Id : 630680317974 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

As per the Indian Minerals Yearbook 2021, ~ was the leading producer of primary gold accounting for 99% production in 2020-21.
Options :

1. ¥ Karnataka

2. % Chhattisgarh

3. ¥ Madhya Pradesh

4. % Kerala

Question Number : 72 Question Id : 630680317975 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

2P DB 55 1F€3 HOODS 8O (DELIIDOS B 55y )?
Options :

1. % 2O PITrOATOZ e6550¢h BT ) (F€3.

2. % 9O ZIrOATFOS @& DB (363,

3. % 9 DB)eN0 NG ) SBEZ ALB0W) &OH.

4. ¥ BPSrS &8 (FSS'S &0H.

Question Number : 72 Question Id : 630680317975 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Which of the following statements about the Himadri Range is INCORRECT?
Options :
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1. # It is the northernmost range of the Himalayas.
2. # It is the highest range of the Himalayas.
3. # It maintains its continuity from west to east.

4. ¥ Dehradun is situated in this range.

Question Number : 73 Question Id : 630680317976 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

T2 SE OO TR BDSCRE KT, SFBIB0 B D0 DBYHETE trBB30E.
Options :

1. ¢ oed

2. % A%y

3. % JrodQ

4. % 525 QFerd

Question Number : 73 Question Id : 630680317976 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The changing course of the river Brahmaputra and its tributaries led to the formation of  1island.
Options :

1. ¥ Majuli

2. # Diu

3. % Pamban

4. % Car Nicobar

Question Number : 74 Question Id : 630680317977 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

25 S'IO errfoS” Do 358 §S5AEen B0 5°GE2e085T0 Y DR 0TISTN).
Options :
1. ¢ @0) D8 geeen
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2. % DOTEN
3. % DESTANEN
4. % 00| en

Question Number : 74 Question Id : 630680317977 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The Sudden movements in the interior of the earth can cause/create
Options :

1. ¥ volcanoes

2. % continents

3. % plateaus

4. * oceans

Question Number : 75 Question Id : 630680317978 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

9B SO DS 20 DBEIBS 2.8 25 0§ €0 .
Options :

1. % 388 drSo

2. % 2,0(C0 5

3. ¢ SOD (ABFS)

4. ¥ @

Question Number : 75 Question Id : 630680317978 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

A/An s aland feature formed by a river in its upper course.
Options :

1. # flood plain

2. % glluvial fan
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3. % canyon
4. % delta

Question Number : 76 Question Id : 630680317979 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

R0BANS NISS ) RONB20E 2021 (DS 0, 2°SSTF0 2020-2165° NSPSE  DOANS €20 B DT Eeh )
B[R0,
Options :
1. % 103
2. ¥ 204
3. % 301
4. % 402

Question Number : 76 Question Id : 630680317979 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

As per the Indian Minerals Yearbook 2021, India produced about  million tonnes of iron ore in 2020-21.
Options :

1. % 103

2.9 204

3. % 301

4, % 402

Question Number : 77 Question Id : 630680317980 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the option that is correct regarding the correctness of the following two statements labelled Assertion (A) and Reason (R).

A: Two of the highest peaks of Himalayas, Mt. Everest (in Nepal) and Kanchenjunga are not very far from the plains.
R: In the east, the Himalayas rise almost abruptly from the plains of West Bengal and Assam.

Options :
1. ¥ Both A and R are individually true, and R is the correct explanation of A
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2. % Both A and R are individually true, but R is not the correct explanation of A
3. # A is true but R is false
4. % A is false but R is true

Question Number : 77 Question Id : 630680317980 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

850 (A) $DBOASM 5280 (R) ©Q B2O DONVA 180 BOL (DEEIS DD Neve sA8 H0D0HO0D) JB DONED
DoNT0R.

(A): PSTFOOTOES ' DB BOC IPT°EN, S5°0€3 ST (BISES) BN SP0ISB0MTeN PITT e t°er GrdosS”
3.
(R): 570, D)o Z30TPS SHBAIN IO VTR DO aldPO AT )€8) €850250T DRSO,

Options :

1. ¥ A DBA5 R DO DAIAM 6556300 0O R 93 A TBNEY OB DdBed
2. % A OO R BOKT AR Db 53000, 50 R 9T A TBE), OB 5B 5260
3. % A D550 520 R @850

4. % A 0550 5°Q R Deh50

Question Number : 78 Question Id : 630680317981 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

00 S 90008 &) ©F eTren.
Options :

1. % % Q00 OO g&3°en

2. % 8¢ 00 DS sEen

3. ¢ 238 DY seen

4. % 810885 DY sezeen

Question Number : 78 Question Id : 630680317981 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0.33
‘Horsts’ are features associated with
Options :
1. # old fold mountains
2. % new fold mountains
3. ¥ block mountains

4. % vyolcanic mountains

Question Number : 79 Question Id : 630680317982 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Match the regions of the Northern plains (Column A) to their features (Column B).

Column A Column B
A)bangar (bhangar) I) made of pebbles/gravel
B)khadar IT1) marshy land
C) bhabar III) never covered with flood water of rivers
D)terai IV) flooded by streams almost every vear

Options :

I.* A-1V,B-III,C-I,D-1
2. A-TILB-1IV,C-1,D-1I
3. A-1I,B-I,C-1V,D-1II
4. % A-1,B-II,C-1II,D -1V

Question Number : 79 Question Id : 630680317982 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0.33

E00 DTTO FoTOD (o A) o8 osrod (stod B) 8T 0ol

e A e B
A)eorid (2506i6) 1) Moo/ %0808 1 eotran
B)arasd 1) Dad He
C)ezrerd )  Heoe H66 D DDYE SoRHE DO
57
D) aooh V) orora) 98 DodsyGo oty (o
aD0NE) (DCGNE000

Options :

I.*¥ A-1V,B-III,C-II,D-1
2. A-TILB-1IV,C-1,D-1I
3. A-1I,B-1,C-1V,D-1II
4. % A-LLB-II,C-III,D-1V

Question Number : 80 Question Id : 630680317983 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

05 DTOW HTP 2285 ) DO [eFEBID) 0 F05E ATD0D OZTOD  e0erd.
Options :

1. % 35806 ew

2. % 187y 5o
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3. % o)
4. ¥ FO3O)

Question Number : 80 Question Id : 630680317983 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The solid conical depositional features hanging from the roofs of limestone caves are called
Options :

1. ® horns

2. % cirques

3. # stalagmites

4. ¥ stalactites

Question Number : 81 Question Id : 630680317984 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The Panjnad is formed by successive confluence of five rivers. They are
Options :

1. ¥ Beas, Chenab, Jhelum, Ravi and Satluj

2. ® Beas, Kaveri, Kosi, Ravi and Satluj

3. ¥ Beas, Jhelum, Mahi, Kaveri and Satluyj

4. #® Beas, Chenab, Mahi, Kosi and Satluj

Question Number : 81 Question Id : 630680317984 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

DT T OTE ¢ SN B S0KN0 T 0" ASHR0H . @D .
Options :

1. ¢ AR, DS, 0, T° OO H&eS

2. % DO, 538, 8, T° 0838w Hexres

3. % DOSrR, B0, 0, 08 DO HEWeS
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4 % DOSTD, DeS, 025, §25 H8050 HEeS

Question Number : 82 Question Id : 630680317985 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

806 73S 5238 SOE &I DE?
Options :

1. % 236

2. ¢ 5D

3. % @0

4. % &

Question Number : 82 Question Id : 630680317985 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is a tributary of the river Kaveri?
Options :

1. # Beri

2. ¥ Kabini

3. ® Tila

4, % Seti

Question Number : 83 Question Id : 630680317986 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

As per the Indian Minerals Yearbook 2021, ~ has the largest reserves/resources of copper ore in India.
Options :

1. # Andhra Pradesh

2. % Telangana

3. % QOdisha

4. ¥ Rajasthan

70/134



8/21/23, 3:24 PM

Question Number : 83 Question Id : 630680317986 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

R0BANS DISS ) RONB20E 2021 (DSE0, 2SS TIOS” T°f e TB0EY 9BV A LeN/SSHOSD  EO8 &od.
Options :

1. % &80(QINT3

2. % SOOMED

3. % 2,8ar

4. ¥ T°BY°Q

Question Number : 84 Question Id : 630680317987 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

s the site of confluence of the rivers Alaknanda and Pindar.
Options :

1. % Vishnuprayag

2. # Nandaprayag

3. % Karnaprayag

4. % Devprayag

Question Number : 84 Question Id : 630680317987 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

098806 B0 DOTED S DK (DTHO.
Options :

1 % VDO

2. % S0SDHATH

3. & EGHATH

4. % BIHOSH
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Question Number : 85 Question Id : 630680317988 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

SBES,  'erohTS 202! €0 DENTX.
Options :

1. % 0o

2. Q8%

3. % §

4. % 02028

Question Number : 85 Question Id : 630680317988 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In Tibet, the  is known as ‘Langchen Khambab’.
Options :

1. * Indus

2. ¥ Satlyj

3. %* Kosi

4. % Subansiri

Question Number : 86 Question Id : 630680317989 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The rising to an elevation of about  metres, Gurushikhar is the highest peak in the Aravalli Range.
Options :

1. % 1277

2.9 1722

3. % 1227

4. % 2217

Question Number : 86 Question Id : 630680317989 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time :
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Correct Marks : 1 Wrong Marks : 0.33

ST DS RS’ &) HRPD TSP (35S @98 IBS FS0.
Options :

1. % 1277

2.9 1722

3. % 1227

4, % 2217

Question Number : 87 Question Id : 630680317990 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Who was the Chief of the Army Staff of India during the Indo-Pakistan War of 19717
Options :

1. ¥ Tapishwar Narain Raina

2. % Sam Manekshaw

3. % Kodendera Subayya Thimayya

4. % Kodandera Madappa Cariappa

Question Number : 87 Question Id : 630680317990 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

1971 ROE-FEFS B3NP0 DA’ 237G eh €382 )0 DD DedBd?
Options :

1. % &35 ororaRed B

2. ¥ P eS8

3. % 50058 020)0%08 3603058

4. % X066 375D 60D

Question Number : 88 Question Id : 630680317991 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

The Shimla (Simla) Agreement was signed between of India and Zulfikar Ali Bhutto of Pakistan.
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Options :
1. ® Jawaharlal Nehru
2. % Morarji Desai
3. ¥ Indira Gandhi
4. % Lal Bahadur Shastri

Question Number : 88 Question Id : 630680317991 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

22330 (R50°) 20)0C30 eFrESHTFIL TOAS 0O FEISE ToBS 258 @O 29 s D00 TAHDEOE.
Options :

1. % 2335°0erd Jove

2. % 0070 BFod

3. ¢ Q000° od

4. % oS D370 TR

Question Number : 89 Question Id : 630680317992 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Swami Vivekananda founded the ~ in 1897 for the upliftment of the masses.
Options :

1. ¥ Ramakrishna Mission

2. % Satyashodhak Samaj

3. ® Prarthana Samaj

4. % Young Bengal Movement

Question Number : 89 Question Id : 630680317992 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

5 IS0 189765 [H230 925055 & §00 QD FDOTT.
Options :
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1. ¢ 020802 QAR
2. % 585878 Hdres
3. % (8 ddreso
4. % 0505 BorrS €d5600

Question Number : 90 Question Id : 630680317993 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The Communist Party of India was formedin _ in 1920.
Options :

1. ¥ Tashkent

2. % Tokyo

3. % Singapore

4, % Moscow

Question Number : 90 Question Id : 630680317993 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

2585 E0sdR 3 1920657 S FD0BDB08.
Options :

1. ¥ &008

2. % &'

3. % 2005:°0

4. % )

Question Number : 91 Question Id : 630680317994 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The Section 2 of the Prevention of Insults to National Honour Act 1971 stipulates imprisonment for a period up to or fine, or both, as
punishment for insulting the National Flag of India.

Options :
1. % one year
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2. % two years
3. ¥ three years

4. % five years

Question Number : 91 Question Id : 630680317994 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

2P0 FEFI 53T DERE 50 197165° VES 2 |DTB0, 23S eh 237305 VO 933 FIODN0CNE BE ™
S0 Bew B8, B 2305570 S BOT DQ0IVBTON.

Options :

1. % 2,8 005¢%)80

2. % BOCY S0P
3. ¢ 00PCd) Q0ded yoren
4. % 2000 Q05 )yoren

Question Number : 92 Question Id : 630680317995 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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207),063 EG{RTPORD (scod0 A) a6 ﬁﬁ@%ﬂ‘&}@@ﬁ) (scd0 B) ﬁﬁﬁﬁﬂaeﬁ.
Seoe A S B
A) B0IPRH08 VOIS 1) Srgd davrzo
B) orar Tran auteTra TROR) 2) oinsd BorreS &0
C}eje:&é) TPaD arPoccoh 3) eIG[RS
D)ird exron HDoHD EF@cr 4) g3y, DaTB0

Options :

1.¥ A-4B-1,C-3,D-2
2.% A-2,B-3,C-4,D-1
3.3 99A-3,B-4,C-1,D-2
4. % A-1,B-2,C-3,D-4

Question Number : 92 Question Id : 630680317995 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Match the reform movements (Column A) to their founders (Column B).

Column A Column B
A) Dayanand Saraswati 1) Prarthana Samaj
B) Raja Ram Mohan Roy 2) Young Bengal Movement
C) Atma Ram Pandurang 3) Arya Samaj
D) Henry Lui Vivian Derozio 4) Brahmo Samaj

Options :

1.% A-4B-1,C-3,D-2
2.% A-2,B-3,C-4,D-1
3.3 909A-3,B-4,C-1,D-2
4. % A-1,B-2,C-3,D-4

Question Number : 93 Question Id : 630680317996 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

$BTSS’ 2302008 H05N H0H3Y oS 3058 B7ED | 9 BT DENXK.
Options :

1. ¢ SA5PS08 B ged

2. % T8 DBeNTON

3% 25 DSOS

4. % 25 Q320 OB §ed

Question Number : 93 Question Id : 630680317996 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Mool Shankar Tiwari, a social reformer born in Gujarat, was popularly known as
Options :
1. ¥ Dayanand Saraswati
2. ® Ramakrishna Paramhansa
3. # Swami Vivekananda

4. % Swami Sahajanand Saraswati

Question Number : 94 Question Id : 630680317997 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

850 (A) $DBOASW 5280 (R) Q) B2O DOHVA 180 BO (DEEIS DD Nehes §A8 H0D0HO0D) JB DONED
DoNT0R.

(A): DD T 19116° A’ 2,8 HITIF0 S 'ST°)5' AP0,

(R): 8OF D¢ ¢85 VI HEFD 080 BOS™ 'Soe)5'eS’ 238A06.

Options :

1. % A 08050 R BOT DAV eh§enen o005 R @E A A3EY OB DedSed
2. ¥ A OO R BOGT AR Db 5300, 50 R 9T A TBE), OB D58 526
3. % A D550 5O R @050

4. % A 0550 5°Q R Deb50

Question Number : 94 Question Id : 630680317997 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the option that is correct regarding the correctness of the following two statements labelled Assertion (A) and Reason (R).

A: The British held an assemblage or ‘Durbar’ in Delhi in 1911.
R: The coronation of King Edward VII was celebrated at a ‘Durbar’ in Delhi.

Options :

1. ® Both A and R are individually true, and R is the correct explanation of A

2. ¥ Both A and R are individually true, but R is not the correct explanation of A
3. % A is true but R is false

4. % A is false but R is true
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Question Number : 95 Question Id : 630680317998 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

5 DRZS0C MHOO0D) &3 18OB 55O DA 6:))?
Options :

1. % &0 HES B SBo(HE .

2. % @95 18635 S8’ 2300T°¢.

3. ¢ 90 187965 T20EYR MDA FD0Te.

4. % 350 K78 IGO0 B

Question Number : 95 Question Id : 630680317998 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements about Swami Vivekanand is INCORRECT?
Options :

1. ® His birth name was Narendranath Datta.

2. % He was born in Kolkata in 1863.

3. ¥ He founded the Ramakrishan Mission in 1879.

4. % He was a disciple of Gadadhar Chattopadhyaya.

Question Number : 96 Question Id : 630680317999 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

&ESHO TR DX HELO(DOFATR VE BIFIBS) A7) S’ &ESHOB S50, (DI SHOASN Eard a0
DACHOS” §) (DB 0Q0IEIE NOCM ) BSS H00E S DA §0 DT°)EN DONEE
SrroQ0IDGB08.

Options :
1. % 1950
2. % 1949
3.9 1948

4. % 1947
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Question Number : 96 Question Id : 630680317999 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The Employees’ State Insurance Act was enacted in to provide for certain benefits to employees in case of sickness, maternity and
employment injury and to make provision for certain other related matters.

Options :
1. % 1950
2. % 1949
3.9 1948
4. % 1947

Question Number : 97 Question Id : 630680318000 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

194965’ 23S e5T350 BN 058 BNCIESITE YT DTS 2000 DOHE0 BANDEOE 0B Ses 200765
NToloInTAxTeIn)

Options :

1. ¢ 255°E°Q

2. % 000H~°0
3. % J>O

4. % (308

Question Number : 97 Question Id : 630680318000 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The Treaty of Friendship and Cooperation was first signed between Indiaand  in 1949, and later revised in 2007.
Options :

1. ¥ Bhutan

2. % Myanmar

3. # Nepal

4. % Sri Lanka
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Question Number : 98 Question Id : 630680318001 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
POBBFO DOEPoDD RIE SOfETrTo (o A) T0d DH6RD (sPoa B) 2800y od.

Seee A s B

A) esHT0NR 208 1) DFSS” eroodiso dg) 28D Difono
=603 ﬁmb?g el

B) e85 5755 99 1) DRD DotSS” FEFIP 2O PATIS &
Y S anGiahs ) Ieos €908} 30 Zanooes” 2P TR0

DOCLE ¥ RIE SO}

D) e50820 5780 V) Q&E‘”ﬁ“ﬁi‘l}émgoﬁ D) 5 HALTDY
2DAWGBOSE=DS 2o’ aroadso

olng), RIS 550

Options :

1. % A-1V,B-1,C-1II,D - 1II
2.% A-I,B-IIILC-1V,D -1
3.% A-IILB-1V,C-1,D-1I
4. A-1L,B-I,C-1II,D-1V

Question Number : 98 Question Id : 630680318001 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
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N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Match the military operations carried out by India (Column A) to the description thereof (Column B).

Column A Column B

A) Operation Maitri [) India's earthquake relief and rescue

mission in Nepal

B) Operation Cactus Lilly II) Indian air attack against Pakistan at

Western front

C) Operation Pawan III)  Military action by Indian Peace
Keeping Force during Sri Lankan civil

war

D) Operation Cactus IV)  India’s military intervention in the
Maldives to restore democratically

elected government

Options :

1.%¥ A-IV,B-LLC-1II,D-1II
2.% A-ILB-1IL,C-1V,D-1
3.% A-1ILB-1V,C-LD-1I
4. A-I,B-1,C-1II,D-1V

Question Number : 99 Question Id : 630680318002 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

1032 ROAASTES” BCIE DTs DO 0N EOEB® SHEST™) B TDONDR0E.
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Options :
1. # QAN Boe3os
2. ¥ 3B ryon)
3. % 20 0
4. % 230 230

Question Number : 99 Question Id : 630680318002 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The first education institution in British India, the Calcutta Madrassa, was founded by
Options :

1. # William Bentinck

2. % Warren Hastings

3. % John Shore

4. % George Barlow

Question Number : 100 Question Id : 630680318003 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

2SSO0 BTDYBSA XX G0N0 & S350,
Options :

1. ¢ QA8 H0220EH0DS JTeew

2. % 3308 S50 ITeen

3. % DB SQO

4. % 38570 Bo|&

Question Number : 100 Question Id : 630680318003 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Chapter XX of the Indian Penal Code deals with .
Options :
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1. ¥ offences relating to marriage
2. % offences against the State
3. % defamation

4. % criminal conspiracy

Question Number : 101 Question Id : 630680318004 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

000 025 &5 TPODHVED 0SS IB0S” 960988’ Der ) ETTTO) FPDOTTED.
Options :

1. % 1894

2. % 1896

3. % 1898

4. % 1892

Question Number : 101 Question Id : 630680318004 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Leaders of the Singh Sabha Movement established the Khalsa College in Amritsar in the year
Options :

1. ¥ 1894

2. % 1896

3. % 1898

4. ¥ 1892

Question Number : 102 Question Id : 630680318005 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

258 2023 2°¢38, e30505TS 2736 - (DG DO 238 e85 3723 (AB-PMIAY) (€3 @)% 3000278 03¢ )T°8
KOO T es8s 88 0B,
Options :
1. ¥ 208 e
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2. % 1§
3.¢¥ 508w
4, % 3080

Question Number : 102 Question Id : 630680318005 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

As of June 2023, the Ayushman Bharat - Pradhan Mantri Jan Arogya Yojana (AB-PMJAY) provides a maximum health cover of X per
beneficiary family per annum.

Options :

1. # 2 lakhs
2. # 1 lakh
3. ¥ 5 lakhs
4. ® 3 lakhs

Question Number : 103 Question Id : 630680318006 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

2@Ged T°arsotoeT @85S 370 0533506 HATOHZ0E AODFoNE.
Options :

1. % 2016

2.9 2019

3. % 2018

4. % 2017

Question Number : 103 Question Id : 630680318006 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Article 370 of the Constitution of India was rendered inoperative in the year
Options :
1. % 2016
2.9 2019
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3. % 2018
4. % 2017

Question Number : 104 Question Id : 630680318007 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

232585 A0S D SEBODS FOBONO 530" @ORTE 2GS (DTS 00T HOCW MDOFHS  evehsoch
DAANT F°5300TEEN EO T°5§AH AATFVF FHO 255D 2rBed T7RIBE BB TR H550 ArAN0S.
Options :

1. ¥ denddd

2. % 0%

3. % S0MHdd

4. % 000

Question Number : 104 Question Id : 630680318007 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The ‘collegium system’ adopted by the Indian judiciary refers to a system where the Chief Justice of India and the senior-most judges of the
Supreme Court recommend candidates for judicial appointments, to the President of India.

Options :
1. ¥ four
2. % two

3. # three

4. % five

Question Number : 105 Question Id : 630680318008 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

850 (A) $DBAW 52890 (R) @ B20O DONVAN 180 BOLR (DEEISS DD e §8 H0D0HO0D) JB DONED
DOTHEOR.

(A): AgriMarket SNBS AR HOEB0 &) 1DTF0 0 10 km S5 S3BxE3>6S DO SFBYES 5B FORETE
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G 0O3°PA0ITN).
(R): 8 0N @9IE BB 0220 PO ¢ 8 ©@0B0NB0 &°ST° PO8 HIFON0 BOANTRE €98)39E
20020AS omnibus FNBO OFR.

Options :

1. % A B0 R BOE® QADRMT 5530000 o0 R @9 A BBNEY OB DedBed
2. % A B0 R BOGYT AR Oeh5s3nen, S°Q R 9JE A A30E) OB DdBed 5260
3. % A D550 520 R @90ed50

4.9 A 9550 5°Q R Deh50

Question Number : 105 Question Id : 630680318008 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the option that is correct regarding the correctness of the following two statements labelled Assertion (A) and Reason (R).

A: AgriMarket mobile app can be used to get the market price of crops in the markets within 10 km of the device’s location.
R: Kisan Suvidha is an omnibus mobile app developed to help farmers by providing relevant information to them quickly.

Options :

1. # Both A and R are individually true, and R is the correct explanation of A

2. # Both A and R are individually true, but R is not the correct explanation of A
3. % Ais true but R is false

4. ¥ A is false but R is true

Question Number : 106 Question Id : 630680318009 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

23S 2023 0°¢38, D §29)) 2SS DAS-(TTDED (SBM-G) & S0° DB ar0t5205008.
Options :

1. ¢ 230> 38 ool § T

2. % (PN 008365 ¢ T

3. % HOTPoNE U7 SHO0(edeh S T

4. % DATZFHECT B 959350 008365 € T, 353550 0B (D23 HODED
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Question Number : 106 Question Id : 630680318009 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

As of June 2023, the Swachh Bharat Mission-Grameen (SBM-G) is administered by the .
Options :

1. ¥ Ministry of Jal Shakti

2. # Ministry of Rural Development

3. % Ministry of Panchayati Raj

4. % Ministry of Consumer Affairs, Food and Public Distribution

Question Number : 107 Question Id : 630680318010 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

237 2023 °¢38, D 52 2POB DAR-OS)N (SBM-U) T 0° A §ar0ddcdenod.
Options :

1. % 230 38 So(edeh § T

2. ¥ 13 0B DI 3§035FFT° o0 (365 ¢ T

3. % 57632350 DO DOF NO(eded § T

4. % DITITHTBIE 55353507 00(E3¢ § 3o, e3IFS0 DB (D23 HODED

Question Number : 107 Question Id : 630680318010 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

As of June 2023, the Swachh Bharat Mission-Urban (SBM-U) is administered by the .
Options :

1. ® Ministry of Jal Shakti

2. ¥ Ministry of Housing and Urban Affairs

3. # Ministry of Commerce and Industry

4. % Ministry of Consumer Affairs, Food and Public Distribution

Question Number : 108 Question Id : 630680318011 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0.33
230565 (925065 S0 (FB0DODS SSBS SPESE00 €00 O IODO(SWAYAM) 03E 5K oS Hod 8Hos
EBIO WROAZ Fen2ren EOAN0.
Options :
1. % ¢5350ed T DO IT SB3L
2. % 550ed V DO VIII B30
3. ¢ SBKS IX DO FQ-(MERSTRAS BB
4. % 8503 I DO IV 5850

Question Number : 108 Question Id : 630680318011 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

SWAYAM, the online programme initiated by the Government of India, facilitates hosting of courses taught in classrooms from
Options :

1. % classto II

2. % class V to VIII

3. ¥ class IX to post-graduation

4, % class Il to IV

Question Number : 109 Question Id : 630680318012 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The Union Government of India established the National Judicial Appointment Commission by introducing the ~ Constitutional Amendment.
Options :

1. # 98th

2. % 99th

3. % 92nd

4. # 96th

Question Number : 109 Question Id : 630680318012 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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230565 OIS 1D2NS 0 Toe50H DB (DS3FDEICHO T ST° 23730 S0 AASTENE NS DT°YEN TIOE.
Options :
1. % 9883
2.¥ 99 %
3.% 92
4. % 96

Question Number : 110 Question Id : 630680318013 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

1 23S 2023 °¢38 PSS TIOS” §F BION BRIS) FH0 G362 BANERE (806 PSR PFoOS” BAJ
SHTTAODDTD )

Options :

1. ¥ HAMRAAZ

2. ¥ MADAD

3. ¥ VAHAN

4.+ SARATHI

Question Number : 110 Question Id : 630680318013 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the of the following portals/softwares can be used to apply for a new driving license in India as of 1 June 2023?
Options :

1. ¥ HAMRAAZ

2. % MADAD

3. ¥ VAHAN

4. ¥ SARATHI

Question Number : 111 Question Id : 630680318014 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
The National Single Sign-on platform launched by the Government of India in July 2022, to facilitate/provide citizens ease of access to
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government portals is called
Options :
1. ¥ MeriPehchaan
2. % MyScheme
3. ¥ MyGov
4. ¥ UMANG

Question Number : 111 Question Id : 630680318014 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

PO (992065 ¢ BSOS IO A5 IR BANEE/0H0TIETE 23S e (D20 S0 237 20226’ (FB0DODS
FASS D00 DR-63S AT G @ 0erd.

Options :

1. ¥ MeriPehchaan

2. % MyScheme

3. ¥ MyGov

4. ¥ UMANG

Question Number : 112 Question Id : 630680318015 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

TASS 9-H8558) &) TS0 B0 OBIGO D & eSIrQO0D0A.
Options :

1. % 2017

2. % 2014

3. ¥ 2006

4. % 2010

Question Number : 112 Question Id : 630680318015 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The National e-Governance Plan was approved by the Union Cabinet in May
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Options :
1. % 2017
2. % 2014
3. ¥ 2006
4. % 2010

Question Number : 113 Question Id : 630680318016 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

UMANG provides a single platform for all Indian Citizens to access pan India e-Gov services ranging from Central to Local Government bodies.
UMANG is an acronym for .

Options :

1. ¥ Unified Mobile Application for New-age Governance
2. % Unlimited Mobile Access for Neo Governance

3. # Unilateral Mobile Application for Nodal Governance

4. % Uninterrupted Mobile Access for National Governance

Question Number : 113 Question Id : 630680318016 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

UMANG 275305 DS0e0588 Bo(29 0B S (525065 5 0D 5B 3PQ ROBOST Q-196385) 0ES 9 OSPEIR
BOAHEAE 2,8 IOED @oAN0H. UMANG @38 8§08 D ddo.

Options :

1. ¢ QD& INBO @VTAS PO S5°5-025 (533, (Unified Mobile Application for New-age Governance)

2. % AOPQDE NSO ATTYR DO QI 9383 (Unlimited Mobile Access for Neo Governance)

3. % QOrABEOES INBO @RBAS HB SBS ($58).S.) (Unilateral Mobile Application for Nodal Governance)

4. % ©9J390T NG INTO OSTYR DO O 8§5B) &) (Uninterrupted Mobile Access for National Governance)

Question Number : 114 Question Id : 630680318017 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

55 PE0) 0 'S0 OB 5585eh D5 @90SOIRNE' HOOTN & 805 @0eSSOm
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HOBE 0T520CIS0E 0B T2S0H0ES R D I T° ST° 3P RS 5GRS WL 2o Go&’ e 201765, 23S
DO S dDJoA.

Options :

1. % 8% 23

2. % &308S 22

3. v 085 21

4. % 308 20

Question Number : 114 Question Id : 630680318017 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In 2017, The Supreme Court of India ruled that Right to Privacy is ‘intrinsic to life and personal liberty’ and is inherently protected under ,
and as a part of the freedom guaranteed by Part III of the Constitution.

Options :

1. # Article 23
2. % Article 22
3. % Article 21
4. % Article 20

Question Number : 115 Question Id : 630680318018 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

237 2023 5°¢38 808 ¢3S &) S00(8d¢h § T 23¢3 2T, 2¢3 HFS’ (BBBP) HHE0S £°%650 EOA S ?
Options :

1. % 5557069 0G0 €929 Q sD0(ed6¢b § T°D

2. ¢ 2357238 TPEON0 SNOAN PQTEES o0 (365 ¢ B

3. % es805s 08A% $0En02) NOT 0 Oo(EdS § F°Y

4. % 2039 0O 2 2989 Q S0(e365 § TR

Question Number : 115 Question Id : 630680318018 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Which of the following Ministries is NOT involved with the Beti Bachao, Beti Padhao (BBBP) Scheme as of June 2023?
Options :
1. % Ministry of Human Resource Development
2. % Ministry of Social Justice and Empowerment
3. % Ministry of Health and Family Welfare
4. % Ministry of Women and Child Development

Question Number : 116 Question Id : 630680318019 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

T30S’ 2rOEB0 D) HBOIN ST ODOTTOR ©F S0 2SSO (D D055 IS0 Q 27308 O
B N30M 33 N0 .

Options :

1. % 12238058
2. % 18 3058
3. % 21 33558
4. 24 33558

Question Number : 116 Question Id : 630680318019 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

India observes  as National Girl Child Day every year, with an objective to provide support and opportunities to the girls of the country.
Options :

1. ¥ 12 January

2. % 18 January

3. % 21 January

4. ¥ 24 January

Question Number : 117 Question Id : 630680318020 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
In January 2023, the Chief Minister of Andhra Pradesh declared  as the capital of the state.
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Options :
1. % Amravati
2. ¥ Visakhapatnam
3. % Guntur
4. % Kurnool

Question Number : 117 Question Id : 630680318020 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

2305558 202365, SO|BSIDTB NP0 D TR TBAT (D830,
Options :

1. % 9:00%ed

2. ¢ PPN 0

3. % Hoewrdd

4. % §&r)en

Question Number : 118 Question Id : 630680318021 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

850 (A) BN 5280 (R) Q) B2O BONVA 180 BOLR (DEEIS PO Nehes s HOD0HO0D) OB DONED
Do B.

(A): $9RDE) O 8.3B) 2P SSTF ST BSOS &0od.

(R): OP(DTT D D25B0DS T Leh BOOMEIZD 2,68DHen B .

Options :

1. % A HBA3 R BOGBT AR 6556300 0O R 9IE A TBNEY OB DB
2. ¥ A OO R BOGT AR Oeb530en, 50 R 9T A TBE), OB 5B 526
3. % A D550 520 R @90eb50

4. % A 9050 52 R D550

Question Number : 118 Question Id : 630680318021 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0.33
Select the option that is correct regarding the correctness of the following two statements labelled Assertion (A) and Reason (R).

A: The Krishnapatnam port is located on the east coast of India.
R: On bifurcation of Andhra Pradesh, Telangana was left with no sea ports.

Options :

1. # Both A and R are individually true, and R is the correct explanation of A

2. ¥ Both A and R are individually true, but R is not the correct explanation of A
3. # A is true but R is false

4. % A is false but R is true

Question Number : 119 Question Id : 630680318022 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Section 108 of the Andhra Pradesh Reorganisation Act 2014 enables referring disputes between the two states (Andhra Pradesh and Telangana) to
the

Options :

1. # Prime Minister of India
2. ¥ President of India

3. ® Chief Justice of India
4. # Union Home Minister

Question Number : 119 Question Id : 630680318022 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

30(S(NTT DB $539VEBED IO 201465°D E.S 108 BOH T(GT® (S0(SIDTT OO BOOTPE) DS DT O 8
JPD0IETR) @9NDSBNOH.

Options :

1. % 25°8¢ |

2. ¥ 2r8eb O° D

3. % 252865 (DG 5000

4. % 30(¢ P00 oY
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Question Number : 120 Question Id : 630680318023 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

28 550200 2018 R°¢3 G5B ¢ T° ST°, €30 Q(DTB DO BOOMPET® T3l o0 D232 Do DONLB0NTE
2EBT3% 9680535 TSONTN0 QTN BIOK.

Options :

1. % 239 SP &8 $¢3

2. % 2390 BM ar $Q0¢3

3. % 230 JS 582 $0es

4. ¢ 2 DM ST765°8 $0es

Question Number : 120 Question Id : 630680318023 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Through an order dated 28 November 2018, the Supreme Court of India constituted the to resolve bifurcation issues between the states of
Andhra Pradesh and Telangana.

Options :

1. % Justice S P Talukdar Committee

2. % Justice B M Shah Committee

3. % Justice J S Verma Committee

4. % Justice D M Dharmadhikari Committee

Question Number : 121 Question Id : 630680318024 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

K, L, M, N, O, P 08050 R 93 03D S530en &Tre)d0eorr OE¢ BeS St Jor) 0. N @98 558 L & ¢8s% 59
BOES N0 &) C8). P @& 558 0 8 0B Y s07°¢8s5 S0 &m0, 0 30 58 €933 SN N B, K $0805m 0 ©
330858 L 875530 ErE Q) &) (0. M &S 6958 LEO 0B S) sd3°¢85 306’ €5a07) ¢80, N 208 QoIS B850 1), 6. €900 P &
D533 Y IS TR0 DI S Yoo 50?

Options :

1. ¥ R
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2. % N
3. K
4. ¢ L

Question Number : 121 Question Id : 630680318024 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Seven people named K, L, M, N, O, P and R are sitting in a straight line facing north direction. N is second to the left of L. P is third to the right
of O. N is not the immediate neighbour of O. Only L is sitting between K and O. M is third to the right of L. N is at one of the ends. Who is sitting
fourth to the left of P?

Options :
1. * R
2. % N
3. % K
4. % L

Question Number : 122 Question Id : 630680318025 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

A,B,C, D, E, F H8A50 G ©%0 FearS0 0B ([3PS08530 S8OTSE0S Snier a8 rS0eS 23888 ))&

DBE ") 0. E TBEy HE8F. ABD 88 €953 300N GO0, B DBE. 577565 QB 635500 35553 HOE 0 DR
0L, A DOAN B © DOE © 0855 ROO8 553 DB &) 0w, C DO F HDBE B0 656033 00 &0&. G DBE F
DBE $T°5e8 2,8 Ferd S0A. G HDOF. D HBE. dT°ceh 5 £330 SO, @ONS F AB3nE) D88 & Ferdd &s0H?

Options :

1. % oAFs G0

2. % 20880

3. ¢ (DSBS 0

4. % Q280

Question Number : 122 Question Id : 630680318025 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Each of A, B, C, D, E, F and G has an exam on a different day of a week starting from Monday and ending on Sunday of the same week.E’s exam
is immediately before A. Only two people have exams after B. Only two people have exams between the exams of A and B. C’s exam is
immediately before F. G’s exam is on some day after F. G’s exam is immediately after D. On which day is F’s exam?

Options :

1. * Tuesday

2. % Wednesday
3. ¥ Thursday
4. % Saturday

Question Number : 123 Question Id : 630680318026 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

PQ,R,S,T,U, VoS35 W & WG sHOE ST 25355065 DS €90e5:0e3¢S QadRcae) . 80 €905
HDOW LN 11, TP & €55) 90HY) DO 21T 0B 9T 150065 €9 ¢350T) 20 ©90eHY) Do 8 HB0TSd. Q
20 558 W 3308}, 905N 8 €953 20 &) 905N’ DINT®) . S $HOASD U © T3E), €905 5055 R 37750
QI 8. V 08050 P © TBEy €905 0 3335 30 835500 37530 ASDT°R. V @R 558 @9 ¢3 50T
29085 NS’ DSV 0. U @03 358 165 905" QedNT) 3. T &9 5558 W TBnEy @905 1808 &) o7¢3¢’ 208
€905 NS’ DINT®) 3. LIONS 565 @05 NES” IS Do) B?

Options :

1. ¥ W

2. % Q

3.9 T

4. % S

Question Number : 123 Question Id : 630680318026 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Eight friends named P, Q, R, S, T, U, V and W live on different floors of a building. The ground floor is number 1, the floor above it number 2 and
so on till the top floor is number 8. Q lives on the floor immediately above W’s floor. Only R lives between the floors of S and U. Only three
people live between the floors of V and P. V lives on the top floor. U lives on floor 1. T lives on some floor below W’s floor. Who lives on floor
5?

Options :

.= W
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2. % Q
3.¢¥7
4. %8

Question Number : 124 Question Id : 630680318027 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statement(s).

Statements:
All televisions are computers.
Some televisions are mixers.

Conclusions:
I. Some computers are mixers.
II. No computer is mixer.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. % Both conclusions I and II follow

4. * Neither conclusion I nor II follows

Question Number : 124 Question Id : 630680318027 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

AD ) (D8I 0B8N DB LSO 2HBTT IIH0B. (DEELIIOES” DI NDSFTPSE0 PGB0 SOV TS
DZ3ENDLEY EIDODINIESE A D230 20D, (DEEIS(®) OB &80 €9INB0TI DB T IS0(€)edd
QYON00R.

HEESe:
Q) BIO23 F0Ir5erD.
£Q) BOJBD DEIW.

DB §ATCN:
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L §) 80375080 EHD.
1L & 307520 830 5°¢.
Options :
1. ¢ DE5ITS0 I S| badd @ DOEN0E
2. % DS5TP0 I 555330 €9 dOONOE
3. % 108050 I BOCY DG IR 9 dOOT O
4. % HBIXTI0 1 5°Q B 1 57 DB 9008050

Question Number : 125 Question Id : 630680318028 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statement(s).

Statements:

All animals are tigers.
All tigers are birds.
No bird is a pigeon.

Conclusions:

I. No tiger is a pigeon.

II. Some pigeons are animals.
III. Some animals are not birds.

Options :

1. ¥ Only conclusion I follows
2. % Only conclusion II follows
3. % Conclusions I and II follow

4. % Conclusions I and III follow

Question Number : 125 Question Id : 630680318028 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

AD NS (D550 0B8N DB LSO 2B 950B. (DEEIIOES” BN IS DSTPTPE0 GBI SOV TRTOS
DZ3ENG) €D EDDODIDIEIE T 2360 230D, (DEEIN(©) 0B &8 E0TT eIB0TI DB ESTI0(€)edd
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QYON0N0&.

RSETAINIOW
23089 HENS.
DENO) DS,

& D FHB0 5.

DG A eN:

L Q O FHB0 5.

I ) aJ°e) TN 230e80a)eN.

I11. §Q) 23050690 DZVEN 5.

Options :

1. ¥ DE5ITS0 I S| badd @ DOEN0E

2. % HB5IS0 I S°(bad @O0

3. % 108050 I DE TN €9 0O 0N
4. % 108050 M DG IR e9cNOET N

Question Number : 126 Question Id : 630680318029 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

fV=Y>K>P>W=RandY <J <T, then which of the following is NOT correct?
Options :

. ¥ W<V

2.9 K>T

3. Y>R

4. % J>P

Question Number : 126 Question Id : 630680318029 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
28JIFV=Y>K>P>W=RDOAD Y <] <T @IS, 808 ¢3S HBIO 5 E?
Options :
. % W<V
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2.¥K>T
3. % Y>R
4, % J>Pp

Question Number : 127 Question Id : 630680318030 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 335" 193, O (N 258 T ), VoHEoS.

FOD-13, CKY-29, ZGT-61, WCO-125, ?, QUE-509
Options :

1. ¥ TYJ-253

2. % TYK-258

3. % TZJ-250

4. % TYH-244

Question Number : 127 Question Id : 630680318030 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the term that will replace the question mark (?) in the following series.

FOD-13, CKY-29, ZGT-61, WCO-125, ?, QUE-509
Options :

1. ¥ TYJ-253

2. % TYK-258

3. % TZJ-250

4, = TYH-244

Question Number : 128 Question Id : 630680318031 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

BRISTLES' @& D506, e300 @08 357> (3e365° 3 BOGE 070 o068 €59)Q) ©9E.T°OS 563 s0¢ds EOAS e9g Tred 23ehen
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D) ) B EDFI0G? (SMOCHZY SHBON THEZ B B HOHSE &0 d.)
Options :
1. % 1
2.% 2
3.9 3
4. % 4

Question Number : 128 Question Id : 630680318031 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

How many such pairs of letters are there in the word ‘BRISTLES’ that have as many letters between them as in the English alphabetical series?
(Count both forward and backward directions.)

Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 129 Question Id : 630680318032 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the option that is related to the fifth letter cluster in the same way as the first letter cluster is related to the second letter cluster and the third
letter cluster is related to the fourth letter cluster.

PROUD: FWQTR: : TIGHT : VJIKV : :RISER : ?
Options :

1. * THVKT

2. % TGUKT

3. % GTULT

4. % TFUKT

Question Number : 129 Question Id : 630680318032 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0.33

[0S €98 3-0s05%370 BOCH 8 8- DATETOS, e 03¢5 €85 DoNIT*0 a7 €8 8- NNTETOS e DO
OB Gam) B> 9T DO 98585 €98 8- HerIrod D000 D8 &) DODE JotHEOB.

PROUD: FWQTR: : TIGHT : VJIKV : :RISER : ?
Options :

1. % THVKT

2. % TGUKT

3. % GTULT

4. % TFUKT

Question Number : 130 Question Id : 630680318033 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

193265 AD ) HES (50590 EORANG)E H0205R), R &5 HE (HO5PA), DDITS OB DOTHEOR.

CLAN: XOZM: OFQD
Options :

1. % TOYS: GLBF: RWUA
2. % SOME: HLNV: LPRZ
3. % BITS: YRFH: UBKI
4. % COMB: XLNY: RFEP

Question Number : 130 Question Id : 630680318033 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the letter cluster triad in which the letters clusters have the same relationship as in the letter cluster triad given below.

CLAN: XOZM: OFQD
Options :

1. ¥ TOYS: GLBF: RWUA
2. % SOME: HLNV: LPRZ
3. % BITS: YRFH: UBKI
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4. % COMB: XLNY: RFEP

Question Number : 131 Question Id : 630680318034 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 TN -2’ 05°¢8) AOR IR 2Ber GOETON BTN 28¢3 S) OTF G0N0, ¢3S D) RN
DOTHEOR.

Options :

1. % (83¢3: 4.58|8
2. % HArS: (B
3% FS): 89

4. ¢ S S50

Question Number : 131 Question Id : 630680318034 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Three of the following four word-pairs are alike in a certain manner and one is different. Select the one that is different.
Options :

1. ¥ Cricket: Overthrow

2. % Football: Brace

3. ¥ Golf: Duff

4. ¥ Polo: Deuce

Question Number : 132 Question Id : 630680318035 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 335" 1993, D (N 258 TaHried How VS 5DBS DD IS OB Do 0E.

23,24,32,59,123, 7,464
Options :
1. % 224
2. % 240
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3.9 248
4. % 260

Question Number : 132 Question Id : 630680318035 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the number from among the given options that can replace the question mark (?) in the following series.

23,24,32,59, 123, ?, 464
Options :
1. % 224
2. % 240
3.9 248
4. % 260

Question Number : 133 Question Id : 630680318036 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
2,5 QBN T 2370, 283 '&' @0 ErBE’ , # 0T NS0, '@ 0T 2XTPIFSE0 0B %' 90T 5550
0NIVS (80 DIrH0 DeNID EFd0d

97 % (64 @ 4)@8 # (25@5) & (88%64) # 2.
Options :
1. # 110
2. % 115
3.9 135
4. % 150

Question Number : 133 Question Id : 630680318036 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
In a certain code language, if' ‘& ' means 'addition’, '#' means 'multiplication’, '@' means 'division' and '%' means 'subtraction', then find the value
of
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97 % (64 @ 4)@8 # (25@5) & (88%64) # 2.
Options :
1. % 110
2. % 115
3.9 135
4. % 150

Question Number : 134 Question Id : 630680318037 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Study the given pie chart and answer the question that follows.

The following pie chart shows the percentage of employees working in different
departments of an organisation. The total number of employees working in the
organisation is 12,000. How many employees are more in Marketing department

than the number of employees in Production department?
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Options :
1. % 720
2. % 960
3. ¥ 1080
4. % 1140

Question Number : 134 Question Id : 630680318037 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
NS D PG oD DR, S0l DT L VATTEDH WDLOC.
308 P TG w8 ",—oo‘cé}eﬁ‘:f} DDS Derreod” DD Sy GBS TEdY
TN, ;bnzgeﬁ“ DD By Do &85O Doy 12,000. &SyE TS
&85he Doy o5 a0) Hoh TS Jod Dod LI I ST &™) W ?

Options :
1. % 720
2. % 960
3. ¥ 1080
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4. % 1140

Question Number : 135 Question Id : 630680318038 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
QLN TG0 900D B, S0d DF) L DATE"D0 FDLOC..

& 300 g Svewod” A, B, C, D, E audoin F e Gened dobedd et DO ?mﬁ? DAIE DD
EDCS‘;SgJﬂ “'n:majém GO nEiod).

700
600
500

660
452
390
apo 4 330
300 224
160
200 -
100 | '
~ —
A B C D E F

E 8'60ne” 882 Domgioe Do) 20080 e300 FMNE” S50 2000 Doejbe Doy Jo Fee0?

Options :

1. % 55%
2.¥ 7.15%
3. % 9.25%
4. % 11.1%

Question Number : 135 Question Id : 630680318038 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Study the given chart and answer the question that follows.

The following chart shows the number of students enrolled in six different courses

labelled A, B, C. D, E and F in a college.

700 A
600
500 -

660
452
390

apo { 330
300 - 224

160
200 -
1Dﬂ - '

=
A B C D E F

The number of students enrolled in course E is what percentage of the total number

of students enrolled in all six courses?

Options :

1. % 55%
2.9 7.15%
3. % 9.25%
4. % 11.1%

Question Number : 136 Question Id : 630680318039 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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In a school having 400 students, boys and girls are in the ratio 3 : 5. The students speak Hindi, English or both the
languages. 12% of the boys speak only Hindi, 22% of the girls speak only English, 24% of the total students speak only
Hindi. How many girls speak only Hindi?
Options :
1. % 55

5, % 117

3 #% 90

4. 18

Question Number : 136 Question Id : 630680318039 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

400 000 Dorgoen &) FETOS” erent Dbt ePdSeD 3 1 5 DNBS” &R . DEmjgen b, Rofid Sor
0060 PR SrerETrd@. 127 2006 erenD 3700 Aoy AFErPEDEMm, 227 0od erdsen Qohd aran
DFEPETD, DOB0 E)mécmbueﬁ*" 247 2008 2rod) ArGD SFEFETRGE. Jodh dod erdLen tred Argan
AFEPETE?

Options :

1. ® 55

, % 17

3. & 96

4. ¢ 78
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Question Number : 137 Question Id : 630680318040 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Study the following pie graph, and answer the question given below.

MARKET SHARE (2018-19) Market Share (2021-22)

m Company A m Company B m Company C m Company A = Company B m Company C
m Company D m Other m Company D m Other

If the market size in 2021-22 is 21,200 crores and the market size in 2018-19 is 21,800 crores, then the difference (in 2
crore) between in the revenues of Company B in 2021-22 and Company D in 2018-19 is:

Options :
1. % 168

» & 162
3 % 156

4 % 165
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Question Number : 137 Question Id : 630680318040 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Sob D TrO) G{OND0 R, HMDHD POLEIED VB 5 VALV QDOC..

S0°0) &5 oS¢ (2018-19) 20°0) 85 Jeeo- (2021-22)

m Company A m Company B m Company C m Company A m Company B m Company C
m Company D m Other m Comgpany D m Other

285 2021-22¢° 25°5) 65 08res0 1,200 Eew adosn 2018-19¢5° 25°5) 65 080es0 1,800 Eew 900338,
2021-22¢5° S0 B 2080w 2018- 1965° S0 D esorosire 206y o dymegdo (X Eees’):

Options :
| % 168

5 v 162
3 % 156

4 % 165
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Question Number : 138 Question Id : 630680318041 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Study the given graph and answer the question that follows.

Numbers of students admitted in schools A, B
and Cin 2022 in diffrent classes

42 it
38 37 36
s 32 32 =
1] II II
Classs

Classd Classb (lass7

A B mC

The average number of students admitted in class 6 in all schools is what percentage of the average number of students

admitted in class 4 in all schools?
Options :

| 82.5%

> % 80.5%

3 % 75.5%

4 % 78.5%
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Question Number : 138 Question Id : 630680318041 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
QN TP 9EONN0 B3, Sod DF) K DATET"D0 @DLOC..

2022¢5° A,B 208080 € ardwed’D
DG BB BB Deygghe) Doay

50

40 o s 36
32 32

30 5 26 35 - £

20

10

o

Class4 Classh Classt Class7?
mA sB mC

9Dy FoTeed” 65 B003S” 50D DEFFEO DD Doy, ) FoT” 4 B0 50D DeFge 0iees” Joad
07

Options :
1.« 82.5%
> % 80.5%
3 % 5.5%
4 % 78.5%

Question Number : 139 Question Id : 630680318042 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
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N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

The given bar graph shows the sales of computers (in thousands) from the top-most six companies during two
consecutive years 2020 and 2021. Study the graph and answer the question that follows.

1 W

53
25 91 88 a0 88
a1

&0 72 3
E 65
70 g5 03
ii"‘
30 I II

A B C ) E F

Companies

=]
= =]

c

A

[=

Sales [ in thousand)
[ S =

o o

[ ]

®2020 =202

Find the ratio of the average sale of all the branches for the years 2020 and 2021.
Options :
1. % 66.5:81

7« 76.5:82
3 % 88:76.5

4 % 80:8l

Question Number : 139 Question Id : 630680318042 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

118/134



8/21/23, 3:24 PM

QN &6 1 2020 0dosn 2021 Bod SR ;Cmaj@juﬂuﬁé @IS0 DIV D £0008) o0& S027°50
DEoITFe (Doed”) dranduod. TrasD e9E35030 BN, 80H VB L DATTR0 QDO

100
0

03
" 83 i g8
81

g0 72 i3
2 55
T0 5g B3
&0
50
40
30
o

A B € D E F

Lompanies

Sales [in thousand)
T

[ =]

=020 = 2021

2020 20bosn 2021 RODBNTOL) TPRD 9) TR (D DSV bﬂg@b Saoh doc.

290006070 MTPCIA)ED:

Sales (In Thousands) = Dgoiren (Deed”)
Options :

| % 66.5 : 81

5 & 76.5: 82

; % 88:76.5

4. % 80 : 81

Question Number : 140 Question Id : 630680318043 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
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N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

S0d DYS gD e, 30H 08 £ DATLTH0 WDLOE.
2011 ool 2016 D65 DD ToPG’D e350% T ol Caraew (T Ewe’).

2011 &oodt 2016 D65 BEFES™D erjoth Y, 9 TPOS'D Do CarSew, STOSS D ) TOSE™D Dy

200" Q00 Car e Jodd Foeo?

‘:i}c:&f:e‘.ﬁ;jdﬂ —
2011 | 2012 | 2013 | 2014 | 2015 | 2016
oearen)
85063003 23 47 58 45 92 105
Slop 0 18 26 45 63 88
E0Y 2P 0 0 15 29 42 68
=lo1] 0 0 0 8 36 /6
Options :
| % 45%

) % 484
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3 v 50%

4. % 52X

Question Number : 140 Question Id : 630680318043 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Study the following table and answer the question that follows.
Deposits (in Z crore) of a bank from its branches in different states from 2011 to 2016.

The total deposits in all the branches of the bank in Kerala from 2011 to 2016, is what percentage of the total

deposits in all branches in Karnataka of all years?

Year —
2011 (2012|2013 | 2014 | 2015|2016
States
1

Andhra Pradesh | 23 | 47 58 76 92 | 105

Karnataka 0 18 26 | 45 63 | 88

Tamil Nadu 0 0 15 29 | 42 | 68

Kerala 0 0 0 8 36 | 76
Options :

1. #% 45%
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) % 48%

Question Number : 141 Question Id : 630680318044 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
A3, 25, 22 19, 3, 50, &L W e a“ﬁ_;}:

Options :
1. % 20

7 « 40
3 % 57
4. % 17

Question Number : 141 Question Id : 630680318044 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The range of the data 23, 25, 22, 19, 37, 57, 21, 17, is:
Options :

1. % 20

7 " 40
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3 #® 57

4 % 17

Question Number : 142 Question Id : 630680318045 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
The standard deviation of the data 6,7,10,12,13,4,8,12, is:

Options :
1 % 2.96

Question Number : 142 Question Id : 630680318045 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
6,7,10,12,13,4,8,12 6ZroT0 Jrarrids D00

Options :
L % 2.96

5 % 2.92
3 % 3.01

4 3.04
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Question Number : 143 Question Id : 630680318046 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
(T 0B0 C:GJJS;J 20960 Sods ma:;ém eI -

10

12

10

Options :
1. % 2

5 o 2.3

4 % 3.3

Question Number : 143 Question Id : 630680318046 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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The mean deviation about the mean for the following data is:

I

10

f

[

10

Options :

1. % <

2.« 2.3

Question Number : 144 Question Id : 630680318047 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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2804 Sodd %"aﬁ:@sﬁg E4FALE ) cﬁng& e908icaed ity 24.8 wmjéeg@, X e

0013 906500 %“53:@:‘5}50
0—-10 5
10—20 17
20—30 12
30-40 b
40-50 X

Options :

L% 15

S RE

3.¢ 10

4 % 12

Question Number : 144 Question Id : 630680318047 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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If the arithmetic mean of the following frequency distribution is 24.8, then the value of x is:

Class interval Frequency
0-10 5
10-20 17
20-30 12
3040 0
40-50 x

Options :

1 ®% 15

) % 13

3 « 10

4 % 12

Question Number : 145 Question Id : 630680318048 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
The geometric mean of the data 5,25,35,45 is closest to:
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Options :
1. % 22.06

5 % 19.60
3 % 20.60

4 21.06

Question Number : 145 Question Id : 630680318048 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
5,25,35,45 Gmrodo d3ng) 081638 i1 FPDD{0rT:

Options :
| % 22.06

5 % 19.60
3 % 20.60

4 v 21.06

Question Number : 146 Question Id : 630680318049 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
If the mean and mode of a certain data are 23 and 8, respectively, then the median of the data is:

(Use empirical formula.)
Options :
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1. % 16

) # 19
3 % 20
4.« 18

Question Number : 146 Question Id : 630680318049 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
2SD¥ DB GZroBoe CI0S) L VBTN LRTVFEDVED DM 23 Hodatn 8 L0ABDB, STroFo aVE|(do:

(eacaeos Iy enairbodods.)

Options :
1 = 16

» % 19
3 % 20

4. v 18

Question Number : 147 Question Id : 630680318050 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
13,12, 18, 15, 16, 21, &0dain 28 cgroBo ding) sdido:

Options :
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1. % 15
7 o 16
3 % 18

4 % 20

Question Number : 147 Question Id : 630680318050 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The median of the data 13, 12, 18, 15, 16, 21, and 28, is:
Options :

1. ® 15

7 « 16

3 % 18

4 % 20

Question Number : 148 Question Id : 630680318051 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The mode of the data 23, 15, 26, 25, 15, 16, 18, 24, 15, 23, and 25, is:
Options :

1. % 23

) # 18
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3.¢ 15

4 % 16

Question Number : 148 Question Id : 630680318051 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
23,15, 26, 25, 15, 16, 18, 24, 15, 23, &0Baiw 25 Bzrodo dng), LaruFSo:

Options :
1 % 23

o % 18
3.¢ 15

4. % 16

Question Number : 149 Question Id : 630680318052 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
208 e30DNAS", 12 2000 DR DBOT 8 D00d DR Vriew Bao I89,480. 2,55¥ Daje Wik Bdo 93,500
290008, DAL DD Bedo:

Options :
| % 83,540

, % ¥84,530

131/134



8/21/23, 3:24 PM

; % 284,350

4 v 83,450

Question Number : 149 Question Id : 630680318052 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
In a hospital, the average salary of 12 doctors and 8 nurses is 289.480. If the average salary of the doctors is 293,500,

the average salary of the nurses is:
Options :

| % 83,540

5 % 384,530

, % 284350

4 v 383450

Question Number : 150 Question Id : 630680318053 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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1985 508030 1995 0307eS" D DB 2" Dote HHDAD 300 TPa DIV, QDN
D0DNTES’ FSHW0ES” D0t ADHDE DADEL TTIS, By ForHdes’ Dot BHE DOHEL FTTD3

QDDOEL TR0 'UEJJ@E Se0fi o,

30

25

20

15

5

Guntur Nellare Srikakulam East Godavari
1985 1895

Options :
1. & G: 1
2. % Fz
3. & 4:5
4. % 2z 4

Question Number : 150 Question Id : 630680318053 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Following graph shows that the yield of crop in four different districts in the years 1985 and 1995. Find the ratio of
percentage increase in vield of crop in Srikakulam to the percentage increase of vield of crop in East Godavari for the
given years.

30
25
20

15

10

Gumntur MNellore Srikakulam East Godawvari
e JHBE e 1595
Options :
1. 6:7
» % 7:6
3% 4:5
4 % 5:4
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